Applications of Vector Algebra

“Mathematics is the science of the connection of magnitudes.
Magnitude is anything that can be put equal or unequal to another thing.
Two things are equal when in every assertion each may be replaced by the other.”

A e — Hermann Giinther Grassmann
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6.1 Introduction

We are familiar with the concept of vectors, (vectus in Latin means “to
carry”) from our XI standard text book. Further the modern version of Theory
of Vectors arises from the ideas of Wessel(1745-1818) and Argand (1768-1822)
when they attempt to describe the complex numbers geometrically as a directed
line segment in a coordinate plane. We have seen that a vector has magnitude
and direction and two vectors with same magnitude and direction regardless
of positions of their initial points are always equal.

Josiah Williard Gibbs

We also have studied addition of two vectors, scalar multiplication (1839 - 1903)

of vectors, dot product, and cross product by denoting an arbitrary vector by

the notation @ or ai +a,;+ a3l€ . To understand the direction and magnitude of a given vector and
all other concepts with a little more rigor, we shall recall the geometric introduction of vectors, which
will be useful to discuss the equations of straight lines and planes. Great mathematicians Grassmann,
Hamilton, Clifford and Gibbs were pioneers to introduce the dot and cross products of vectors.

The vector algebra has a few direct applications in physics and it has a lot of applications along
with vector calculus in physics, engineering, and medicine. Some of them are mentioned below.

* To calculate the volume of a parallelepiped, the scalar triple product is used.

* To find the work done and torque in mechanics, the dot and cross products are respectiveluy used.

* To introduce curl and divergence of vectors, vector algebra is used along with calculus. Curl
and divergence are very much used in the study of electromagnetism, hydrodynamics, blood
flow, rocket launching, and the path of a satellite.

» To calculate the distance between two aircrafts in the space and the angle between their paths,
the dot and cross products are used.

» To install the solar panels by carefully considering the tilt of the roof, and the direction of the
Sun so that it generates more solar power, a simple application of dot product of vectors is
used. One can calculate the amount of solar power generated by a solar panel by using vector
algebra.

* To measure angles and distance between the panels in the satellites, in the construction of
networks of pipes in various industries, and, in calculating angles and distance between
beams and structures in civil engineering, vector algebra is used.
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@ Learning Objectives

Upon completion of this chapter, students will be able to
e apply scalar and vector products of two and three vectors
e solve problems in geometry, trigonometry, and physics

e derive equations of a line in parametric, non-parametric, and cartesian forms in different
situations

e derive equations of a plane in parametric, non-parametric, and cartesian forms in different
situations

e find angle between the lines and distance between skew lines

e find the coordinates of the image of a point

6.2 Geometric introduction to vectors .

A vector v is represented as a directed straight line segment in a 'C// P
3-dimensional space [1°, with an initial point 4 = (a, ,—az,a3)eD * and ,U/"/i/ / B
an end point B =(b,,b,,b,)€l1”, and it is denoted by AB . The length .
of the line segment AB is the magnitude of the vector v and the direction P :0 y
from A to B is the direction of the vectorv . Hereafter, a vector will be § '

Fig. 6.1

interchangeably denoted by v or AB . Two vectors AB andCD in [1°
are said to be equal if and only if the length AB is equal to the length CD and the direction from A
to B is parallel to the direction from C to D. If AB and CD are equal, we write AB=CD,and CD

is called a translate of 4B .

It is easy to observe that every vector AB can be translated to anywhere in [ ° | equal to a vector
with initial point U € 0 * and end point ¥ € 0 * such that AB =UV .In particular, if O is the origin
of 0° , then a point Pe [] 3 can be found such that AB = OP . The vector OP is called the position
vector of the point P. Moreover, we observe that given any vector v, there exists a unique point
Pe [’ such that the position vector OP of P is equal to v. A vector AB is said to be the zero
vector if the initial point 4 is the same as the end point B . We use the standard notations 7, ]A,lg and
0 to denote the position vectors of the points (1,0,0),(0,1,0),(0,0,1), and (0,0,0), respectively. For
a given point (a,a,,a;)e’, ai +a2}'+a3l€ is called the position vector of the point (a,,a,,a,),
which is the directed straight line segment with initial point (0,0,0) and end point (a,,a,,a,) . All real

numbers are called scalars.

XII - Mathematics 222



___IEEEN ®

‘ ‘ Chapter 6 Vector Algebra.indd 223 @ 10-05-2019 17:07:19‘ ‘

Given a vector 4B, the length of the vector ‘E‘ is calculated by

\/(bl _a1)2 +(b, _a2)2 + (b, _a3)2 >
where 4 is (a,,a,,a,) and B is (b,b,,b,). In particular, if a vector is the position vector b of
(b,,b,,b,), then its length is /b’ +b,” +b,” . A vector having length 1 is called a unit vector. We use

the notation i, for a unit vector. Note that i, j, and k are unit vectors and 0 is the unique vector

with length 0. The direction of 0 is specified according to the context.

The addition and scalar multiplication on vectors in 3-dimensional space are defined by

G+b = (a,+b)i +(a,+b,)]+(a, +b)k.

(aa))i +(0a,) ] +(0a,)k ;

oa

where i = ai+a,j+ak, b=bi+bj+bkel’ and aell .

To see the geometric interpretation of d+b,let @ and b, denote the position vectors of
A=(a,,a,,a,) and B=(b,,b,,b,), respectively. Translate the position vector b to the vector with
initial point as 4 and end point as C=(c,c,,c;), for a suitable (c,c,,c;)el’. See the

Fig (6.2). Then, the position vector ¢ of the point (¢,,c,,c;) is equal to a +b.

The vector aa is another vector parallel to @ and its length is magnified (if « > 1) or contracted
(if 0<a<l).If <0, then a is a vector whose magnitude is | ¢ | times that of ¢ and direction
opposite to that of @ . In particular, if & =-1, then ad =—a is the vector with same length and

direction opposite to that of a. See Fig. 6.3

A —2;‘ —a
¢ /
c

Fig. 6.2 Fig. 6.3
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6.3 Scalar Product and Vector Product

Next we recall the scalar product and vector product of two vectors as follows.

Definition 6.1
Given two vectors d@=ai +a2j+a3l€ and b=bi +b2j+b3l€ the scalar product (or dot

product) is denoted by a - b and is calculated by
i-b = ab +a,b, +ab,,

and the vector product (or cross product) is denoted by a xb , and is calculated by

i J k
axb = a a, a,
b b, b

Note
a-bisascalar, and axb isa vector.

6.3.1 Geometrical interpretation
Geometrically, if @ is an arbitrary vector and 7 is a unit vector, then g-n is the projection of

the vector a on the straight line on which 7 lies. The quantity -7 is positive if the angle between

a and 7 is acute, see Fig. 6.4 and negative if the angle between a and 7 is obtuse see Fig. 6.5.

Negative dot product

Positive dot product
Fig. 6.4 Fig. 6.5
|E|a-(iJ au?-(%}
|b] |a|

| ab | means either the length of the straight line segment obtained by projecting the vector |l; |a
along the direction of b or the length of the line segment obtained by projecting the vector |a | b
along the direction of a. We recall that a b =|a| |I; | cos@, where @ is the angle between the two

and so

If @ and b are arbitrary non-zero vectors, then |5-[; | =

vectors @ and b . We recall that the angle between d@ and b is defined as the measure from d@ to b

in the counter clockwise direction.
The vector a@xb is either 0 or a vector perpendicular to the plane parallel to both @ and b

having magnitude as the area of the parallelogram formed by coterminus vectors parallel to a and
b.If @ and b are non-zero vectors, then the magnitude of @xb can be calculated by the formula

|ﬁx5| =laj |5| |sin@ |, where @ is the angle between a and b.

Two vectors are said to be coterminus if they have same initial point.
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Remark

(1) An angle between two non-zero vectors a and b is found by the following formula

6 =cos™ qa'bﬁ .
lal[b]

(2) a and b are said to be parallel if the angle between them is 0 or 7.

(3) a and b are said to be perpendicular if the angle between them is T or 3—7T
Property
(1) Let @ and b be any two nonzero vectors. Then
U d-b=0 ifand only if @ and b are perpendicular to each other.
1 axb =0 ifand only if a and b are parallel to each other.
2) If d,b, and ¢ are any three vectors and « is a scalar, then
Ga-b =b-a, (G+b)-¢=a-b+b-¢, (ad)-b=a(G-b)=a-(ab);
Gxb = —(bxa), (G+b)xé=axc+bx¢, (ad)xb=a(axb)=ax(ab).

6.3.2 Application of dot and cross products in plane Trigonometry

We apply the concepts of dot and cross products of two vectors to derive a few formulae in plane
trigonometry.

Example 6.1 (Cosine formulae)
With usual notations, in any triangle 4ABC, prove the following by vector method.

(i) a*=b*+c>—2bccos A (i) b*=c*+a’*—2cacosB
(iii) ¢*=a’+b*—2abcosC
Solution

With usual notations in triangle ABC, we have BC=ad,CA=b and AB=¢ . Then | BC |=a, | CA |=b,
| AB|=c and BC+CA+A4B = 0.
So, BC =—-CA- AB.
Then applying dot product, we get
BC-BC = (~CA—- AB)-(—CA— AB)

= |BCP =|CAf +| 4B +2CA- 4B o
= a’ =b*+c* +2bccos(w— A)
= a’ =b>+c*—2bccos A.
The results in (i1) and (ii1) are proved in a similar way. [ ]
Example 6.2
With usual notations, in any triangle ABC, prove the following by vector method.
(1) a=bcosC+ccosB (1)) b=ccosA+acosC
(i11)) c¢=acosB+bcos A
225 Applications of Vector Algebra
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Solution
With usual notations in triangle ABC, we have BC=a, CA = b, and
AB=¢ . Then
|BC|=a, |CA|=b, | AB|=c and BC+CA+AB =0
So, BC=-CA-AB
Applying dot product, we get

TlC

BC-BC = —BC-CA-BC-AB
= |BC] = —|BC||CA| cos(m—C)—|BC|| AB|cos(n — B)

= a’ = abcosC +accos B
Therefore a =bcosC+ccos B The results in (ii) and (iii) are proved in a similar way. [
Example 6.3

By vector method, prove that cos(er+ ) =coseacos f—sinasin 3.
Solution

Let G=0A and b= OB be the unit vectors and which make angles « and S, respectively, with
positive x -axis, where 4 and B are as in the Fig. 6.8. Draw AL and BM perpendicular to the

x -axis. Then |ﬁ|:|O—A|cosa =cosa, |L71|:|a|sina =sina .

So, OL=|OL|i = cosai, LA=sina(-)). B
Therefore, a = @=a+ﬂ:cosaf—sin0{j. .. (1) @
Similarly, b = cos fBi +sin B} .2 To e M - "
The angle between 4 and b is o+ 8 and so, a ,
a-b =|a| |b|cos(a+f)=cos(a+f) ...(3) -
Fig. 6.8

On the other hand, from (1) and (2)
G-b = (cosai —sinar})-(cos Bi +sin B]) = cosacos f—sinasin B ... (4)
From (3) and (4), we get cos(ex+ ) =cosacos f—sinasin 5. ]

Example 6.4

b
With usual notations, in any triangle ABC, prove by vector method that .a =—= .c .
sin4 sinB sinC
Solution
With usual notations in triangle ABC, we have BC=ad,CA=b,and AB=¢ .Then|BC|=a, |CA|=b,
and | AB |=c.

Since in AABC, BC+CA+ AB =0, we have ﬁ'x(ﬁ'+a+ﬁ)=6.

Simplification gives,

BCxCA = ABxBC. (D)
Similarly, since BC+CA+ AB =0, we have B Tc
o
o s T  am
CAx(BC+CA+A4B) = 0. Fig. 6.
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On Simplification, we obtain BCxCA = CAXAB .. (2)
Equations (1) and (2), we get

ABxBC = CAxAB=BCxCA.
So, |ZZ§><§5| = |@x2§|:|§6xa|.Then, we get
casin(r—B) = becsin(r— A)=absin(zx—C).

That is, casin B = bcsin A =absin C . Dividing by abc, leads to

sind _ sinB _sinC or 4= b _ ¢
a b c sin4 sinB sinC ]
Example 6.5
Prove by vector method that sin(ex— ) =sinearcos f—cosasin 5.
Solution \Y 4
Let a=04 and b =OB be the unit vectors making
angles o and [ respectively, with positive x -axis, where a ~ B
A and B are as shown in the Fig. 6.10. Then, we get A 9 4
a=cosai +sinaj and b= cos Bi +sin 3], o \B i
The angle between @ and b is @— 8 and, the vectors ) 0 ] L M x
b,a,k forma right-handed system. I
Hence, we get Fig. 6.10
bxa = |b||a|sin(a— Bk =sin(a— Bk . (1)
On the other hand,
i ik
bxa = cos sinf 0|=(sinacosB—cosasin Bk - (2)
cosa sina 0
Hence, equations (1) and (2), leads to
sin(x— ) = sinacos f—cosasin . ]

6.3.3 Application of dot and cross products in Geometry

Example 6.6 (Apollonius's theorem)
If D is the midpoint of the side BC of a triangle 4BC, show by vector method that

| ABP +|ACP=2( AD | +|BD[")-
Solution

Let A be the origin, b be the position vector of B and ¢ be the position

vector of C. Now D is the midpoint of BC, and so the, position vector of D
b+¢

1S

. Therefore, we have Fig. 6.11
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o —— (b+C\[(b+E) 1, -y,
\AD[=AD-AD =| =5 || 225 |=—(b P +|c +2b-5). ()
2 2 4
Now, BD = E—E=b+c—l§=c;b.
. — 0 === [(é=b\(é=b) 1,7y _p =
Then, this gives, | BD|"=BD-BD = 7 1173 =Z(]b\ +|¢|”=2b-¢) .. (2)

Now, adding (1) and (2), we get

Therefore, |AD|’ +|BD| = %(|E|2 +|¢ [ +215~5)+%(|E|2 +|¢ [ —215~(,1):%(|z3’|2 +|¢1)

= |ZB|2+|E5|2:%(|Z§|2+|ZE|2).
Hence, |AB| +| AC| = 2(| AD|* +| BD ) -
Example 6.7

Prove by vector method that the perpendiculars (attitudes) from the vertices to the opposite sides
of a triangle are concurrent.

Solution

Consider a triangle ABC in which the two altitudes AD and BE intersect at
O. Let CO be produced to meet AB at F. We take O as the origin and let

51?1:&,573:5 and OC =¢ .

Since AD is perpendicular to BC, we have O4 is perpendicular to BC, and hence we get
OA-BC =0. That 1S, &'(5—5)20, which means

i-é—dab =0

(1)
Similarly, since BE is perpendicular to CA , we have OB is perpendicular to CA , and hence we
get OB-CA=0. That 18, 5-(5—5) =0, which means,

Gb-b¢=0. Q)

Adding equations (1) and (2), gives @-¢—b-¢ =0.Thatis, ¢-(a—b)=0.

That is, OC-BA=0. Therefore, BA is perpendicular to OC which implies that CF is
perpendicular to AB . Hence, the perpendicular drawn from C to the side 4B passes through O.

Thus, the altitudes are concurrent. ]

Example 6.8
In triangle ABC, the points D, E, F' are the midpoints of the sides BC,CA,and AB respectively.
. . 1
Using vector method, show that the area of ADEF' is equal to 7 (area of AABC).
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Solution 4
In triangle ABC, consider A as the origin. Then the position vectors of

. AB+AC AC AB

D,E,F are given by AB;AC, 2C

area of the parallelogram formed by the two vectors AB, AC as adjacent sides, the

respectively. Since |Z§><Z(.f| isthe F E

b

area of AABC is %]ﬁxﬁw Similarly, considering ADEF , we have B D c
Fig. 6.13

| —
the area of ADEF = ElDE XDF |
_ %|(71§—25)x(2ﬁ—25)|

1

2

1 l|ZZ§><Z(.Z'|
4|2

AB_AC
_—X—_—
272

i (the area of AABC).

6.3.4 Application of dot and cross product in Physics

| Definition 6.2
® If d isthe displacement vector of a particle moved from a point to another point after applying ®

a constant force F on the particle, then the work done by the force on the particle is w=F - d. |

0 0
F F
0 0 0
g g FAN g
Fig. 6.14

If the force has an acute angle, perpendicular angle, and an obtuse angle, the work done by the
force is positive, zero, and negative respectively.

Example 6.9
A particle acted upon by constant forces 2/ +5 + 6k and — — 2] —k is displaced from the point

(4,-3,-2) to the point (6,1,—3). Find the total work done by the forces.

Solution

Resultant of the given forces is F = (2i +5/ + 613) +(—i—2]- IQ) =i+3/+ 5k .

Let 4 and B be the points (4,-3,-2) and (6,1,—3) respectively. Then the displacement vector
of the particle is d = AB=0B—0A=(6i + j —3k)—(4i =3 —2k)=2i +4] —k.

Therefore the work done w=F-d = (i+3]+ 512) (2 +4) —lg) =9 units. -

229 Applications of Vector Algebra
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Example 6.10
A particle is acted upon by the forces 3i —2j+2k and 2i + j—k is displaced from the point

(1,3,-1) to the point (4,—1,A) . If the work done by the forces is 16 units, find the value of 4.
Solution
Resultant of the given forces is F=(3i-2j+ 2]9) +Qi+ - /€) =5/—J +k.
The displacement of the particle is given by
d=(4 -]+ k)= +3]—k)= (3 —4] +(A+ k).

As the work done by the forces is 16 units, we have

F-d=16. i
Thatis, (51— j+k)-3i 4] +(A+ )k =16= 1+20=16.
So, A=—4.
IDeﬁnition 6.3

If a force F is applied on a particle at a point with position vector 7, then the torque or

moment on the particle is given by 7 =7 x F . The torque is also called the rotational force. |

;:;XF

Merry-go-round
Fig. 6.15
Example 6.11
Find the magnitude and the direction cosines of the torque about the point (2,0,—1) of a force

2+ —k, whose line of action passes through the origin.

Solution . 40001
Let 4 be the point (2,0,—1) . Then the position vector of 4 is O4 =2i —k (0,00
and therefore 7 = A0 =-2i +k . P
Then the given force is F =2i + J —k. So, the torque is 5 -
F
. A Fig. 6.15
[=FxF=|-2 0 1|=--2k.
2 1 -1
The magnitude of the torque =|—i —2k |:\/§ and the direction cosines of the torque are
o2
NSRS
|
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EXERCISE 6.1

1. Prove by vector method that if a line is drawn from the centre of a circle to the midpoint of
a chord, then the line is perpendicular to the chord.

2. Prove by vector method that the median to the base of an isosceles triangle is perpendicular
to the base.

3. Prove by vector method that an angle in a semi-circle is a right angle.
4. Prove by vector method that the diagonals of a rhombus bisect each other at right angles.

5. Using vector method, prove that if the diagonals of a parallelogram are equal, then it is a
rectangle.

6. Prove by vector method that the area of the quadrilateral ABCD having diagonals AC and
BD is % | ACXBD|.

7. Prove by vector method that the parallelograms on the same base and between the same
parallels are equal in area.

8. If G is the centroid of a AABC, prove that .
(area of AGAB) = (area of AGBC) = (area of AGCA) :§ (area of AABC).

9. Using vector method, prove that cos(ex— ) = cosarcos f+sinasin .

10. Prove by vector method that sin(e+ ) =sinacos f+cosasin 3,

11. A particle acted on by constant forces 8/ +2 —6k and 6i + 2j— 2k is displaced from the
® point (1,2,3) to the point (5,4,1) . Find the total work done by the forces. @

12. Forces of magnitudes 5J2 and 10+2 units acting in the directions 3/ +4;+ 5k and
10 +6 — 8k, respectively, act on a particle which is displaced from the point with position
vector 4i —3] — 2k to the point with position vector 6i + j — 3k .Find the work done by the

forces.

13. Find the magnitude and direction cosines of the torque of a force represented by 37 +4 ] — 5k
about the point with position vector 2i —3j + 4k acting through a point whose position vector
is 47 +2] -3k .

14. Find the torque of the resultant of the three forces represented by =37 +6j -3k , 4i =10} +12k
and 47 +7 ] acting at the point with position vector 87 —6 j —4k , about the point with position

vector 187 +3 -9k -

6.4 Scalar triple product

| Definition 6.4
For a given set of three vectors 5,5 , and ¢, the scalar (a x5)~5 is called a scalar triple

product of a,b,c. |

Remark

da-b is ascalar and so (a@-b)xc¢ has no meaning.

231 Applications of Vector Algebra
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Note
Given any three vectors d,b and ¢, the following are scalar triple products:

(@xb)-¢, (bx&)-d, (Exa)-b, a-(bx&), b-(¢xa), ¢ (axb),
(bxa)-¢, (Exb)-a, (@xc)-b, a-(¢xb), b-(axc), ¢-(bxa)
Geometrical interpretation of scalar triple product
Geometrically, the absolute value of the scalar triple product (@x5b)-¢ is the volume of the
parallelepiped formed by using the three vectors 4, b, and ¢ as co-terminus edges. Indeed, the
magnitude of the vector (a@x5) is the area of the parallelogram formed by using @ and b ; and the
direction of the vector (dxb) is perpendicular to the plane parallel to both @ and b .
Therefore, | (@xb)-¢ | is |axb ||¢]||cosB|, Gxb

where @ is the angle between axb and ¢ .From

Fig. 6.17, we observe that |c| |cos@| is the

height of the parallelepiped formed by using the 4 ¢
three vectors as adjacent vectors. Thus, | (a X b )-C | €l cos 010 L
is the volume of the parallelepiped. b
The following theorem 1is useful for Lo G >
computing scalar triple products. Fig. 6.17

/Theorem 6.1

If = ai+a,j+ak, b=bi+b,j+bk and ¢ =ci+c,j+ck, then
@ a a, a @
(@xb)-¢ = |b b, b,|.
\_ G 6 G )
Proof
By definition, we have
i] ok
(@xb)-¢ = |a, a, a,|-C
b, b, b

= _(a2b3 —ab))i —(ab,—ab)j+(ab, — azbl)l;] (ci+c, )+ 0313)

= (a,b,—a;b,)c, +(ash, —aby)c, +(a,b, —a,b)c, u
a a, a4

=|b b, b
G G G

which completes the proof of the theorem.

6.4.1 Properties of the scalar triple product

Theorem 6.2
For any three vectors a,b, and ¢, (axb)-¢ =a-(bxc).

XII - Mathematics 232

‘ ‘ Chapter 6 Vector Algebra.indd 232 @ 10-05-2019 17:07:40‘ ‘



B [ [ [ ® . EEES

Proof n R N A R N A _ n R A
Let a = aji+a,j+ak, b=bi+b,j+bk and ¢ =cji +c,j+c;k.
b b, b, a a, a
Then, d-(bx¢) = (bxé)-d=|¢, ¢, ¢|=—|¢, ¢ ¢, by R &R,
a 4, a b b, b,
a a, a4
=|b b, b|,by R, &R,
Cl c2 CS
= (axb)-c.
Hence the theorem is proved.
Note u

By Theorem 6.2, it follows that, in a scalar triple product, dot and cross can be interchanged
without altering the order of occurrences of the vectors, by placing the parentheses in such a way
that dot lies outside the parentheses, and cross lies between the vectors inside the parentheses. For
instance, we have -

(axb)-¢ = a-(bx¢), since dot and cross can be interchanged.

— (bx¢)-a, since dot product is commutative.

_b- (¢ xa), since dot and cross can be interchanged
(¢xa)-b , since dot product is commutative

=¢-(ax b ), since dot and cross can be interchanged
Notation

@ For any three vectors G,b and €, the scalar triple product (d x b)-¢ is denoted by [a,b,c]. @
[Zt,l; ,C] 1is read as box ﬁ,I;,E . For this reason and also because the absolute value of a scalar
triple product represents the volume of a box (rectangular parallelepiped),a scalar triple product is
also called a box product.
Note
(1) [d,b,¢] = (ax
[b,¢,ad] = (bx
the same cyclic order, the value of the scalar triple product remains the same.

(2) If any two vectors are interchanged in their position in a scalar triple product, then the
value of the scalar triple product is (—1) times the original value. More explicitly,

[d@,b,¢] = [b,é,d]=[¢,a,b]=—[d,¢,b]=-[¢,b,dl=-b,ad,c].

Theorem 6.3

The scalar triple product preserves addition and scalar multiplication. That is,
[(@G+b),¢,d] = [a,¢,d]+[b,¢,d];
[Aa,b,é] = Ala,b,c],VAel
[G,(b+¢),d] = [a,b,d]+[d,¢,d];
[d@,Ab,é] = Aad,b,é],VAel
[,b,(¢+d)] = [a,b,¢]+[d,b,d];
[a,b,A¢] = Ald,b,é],YAell .
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Proof
Using the properties of scalar product and vector product, we get

[(G@+b),é,d] = (@+b)xc)-d

(GXE+bXE)-d

(@x¢)-d+(bxc)-d

[G,¢,d]+[b,¢,d]

[Ad,b,¢] = ((Aa)xb)-¢ =(AUaxb))-¢ = A(axb)-¢)=Aa,b,c].

Using the first statement of this result, we get the following.

[d,(b+7¢),d]

Il
| |
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+

oY1
:-/
X
2

Il
m
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Q
e
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N
| |
8
Sy
(@Y
e

[d,4b,¢] = [4b,¢,a]=1|
Similarly, the remaining equalities are proved. [ |

We have studied about coplanar vectors in XI standard as three nonzero vectors of which, one
can be expressed as a linear combination of the other two. Now we use scalar triple product for the
characterisation of coplanar vectors.

Theorem 6.4
The scalar triple product of three non-zero vectors is zero if, and only if, the three vectors are
coplanar.

Proof
Let a,b,c be any three non-zero vectors. Then,

(lel;)-g =0 & ¢ is perpendicular to axb
& ¢ lies in the plane which is parallel to both a and b

< a,b,c are coplanar. ]

Theorem 6.5
Three vectors a,b,c are coplanar if, and only if, there exist scalars r,s,fe ] such that

atleast one of them is non-zero and ra+sb+tc=0.

Proof
Let a=aji+a,j+ak, b=bi+b,j+bk, c=cji+c,j+c,k.Then, we have

a, a, da

21,13,2 are coplanar & I:Zz,l;,g] =0 |b b, b|=0

< there exist scalars r,s,te ] ,

atleast one of them non-zero such that
ar+a,s+ait =0, br+b,s+bit =0, cr+c,s+ct =0

< there exist scalars r,s,te ] ,

—

atleast one of them non-zero such that ra+sb+tc=0.
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% Theorem 6.6 N

If a,b,¢ and ;,Z],; are any two systems of three vectors, and if ; = xlc; + yll; +z, c

q=x,a+y,b+z,c,and, r = x;a+y,b+z,c, then

XN g
I:p,q,r]:x2 Y, 2, [a,b,c].
\_ X3 V3 4 Y,
Proof
Applying the distributive law of cross product and using
axa=bxb=cxc=0,bxa=-axb,axc=—-cxa,cxb=-bxc,
we get
pxq = (xa+yb+zc)x(x,a+y,b+z,c)
= (x1y2—xzyl)(axb)+(ylzz—yzzl)(bXC)+(zlx2—zle)(cxa)
X, X~ = - - R
= | 2(a><b +y1 Y2 (bxe)+zl %2 (cxa).
N 0 2 4 XX
Hence, we get
[;967;] = (EX&).(x3a+y3B+Z3E)
N I L 4 XXl
= X +y +z a,b,c
® {321 Z le X, 3)/1 yz}[ :I ®
X X, S
= 41X, N A + “ 1+z3 1 [a,b,c]
Yo 2y Z X X, W
X 4 o
= |x, ¥, 2z [a,b,c].
X3 V3 4 [ |
Note

By theorem 6.6, if ZZ,B,E are non-coplanar and
XN g
x, v, z,|#0,
X3 W3z

then the three vectors p = xIZz+yll;+zlg, q= x221+y25+z22, and, r= x321+y35+z32 are also
non-coplanar.
Example 6.12

If G=-3i—j+5k,b=i-2j+k,¢=4]-5k,find G- (bx7).

Solution: By the defination of scalar triple product of three vectors,

-3 -1 5
a-(bxé)=|1 -2 1|=-3.
0 4 -5 -
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Example 6.13

Find the volume of the parallelepiped whose coterminus edges are given by the vectors
2i-3j+4k,i+2j—k and 37— j+2k.
Solution

We know that the volume of the parallelepiped whose coterminus edges are a ,b,C is given by
[d@,b,¢]|. Here, G=2i —3j+4k,b=i+2]—k, ¢=3i — j+2k.

2 -3 4
Since [d@,b,¢]=|1 2 —1|=-7, the volume of the parallelepiped is |—7|=7 cubic units.
3 -1 2
Example 6.14 "
Show that the vectors i +2j—3k, 2i — j+2k and 3i + j—k are coplanar.
Solution
Here, G=i+2j—-3k,b=2i—j+2k,c =3+ j—k
1 2 -3
We know that &,5,5 are coplanar if and only if [ﬁ,E,E]zO.Now, [Zz,l;,E]z 2 -1 2|=0.
31 -1
Therefore, the three given vectors are coplanar.
|
Example 6.15
@ If 2i—j+ 3k, 3i + 27+ k,i+ mj + 4k are coplanar, find the value of m . @
Solution
2 -1 3
Since the given three vectors are coplanar, we have |3 2 1|=0=>m=-3.
I m 4
Example 6.16 u

Show that the four points (6,—7,0), (16,—19,—4), (0,3,-6), (2,-5,10) lie on a same plane.

Solution
Let A4=(6,-7,0), B=(16,-19,-4), C =(0,3,-6), D =(2,-5,10). To show that the four points

A,B,C,D lie on a plane, we have to prove that the three vectors ZE, A_é, AD are coplanar.
Now, AB = OB—-0A4=(16i —19] —4k)—(6i =7])=10i =12 ] — 4k

AC = OC—0A=—-6i +10]—6k and AD=0D—0A=—-4i +2j+10k.

10 -12 -4
We have  [4B,AC,AD] =|-6 10 —6|=0.
4 2 10

Therefore, the three vectors ZE, Z@,Zﬁ are coplanar and hence the four points 4, B,C, and

D lie on a plane.
|
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Example 6.17

If the vectors a@,b,¢ are coplanar, then prove that the vectors a + b,b+¢,C+a arealso coplanar.
Solution

Since the vectors a@,b,¢ are coplanar, we have [a, b, ¢]=0. Using the properties of the scalar

triple product, we get

Example 6.18

If H,I;,E are three vectors, prove that [a +c¢, c7+l;, 5+I;+E] :—[Zi,l;,(?].

Solution

Using theorem 6.6, we get

1 01
[G+¢,a+b,a+b+c] = |1 1 0|[d,b,¢]
111

Il
|
~—
Q
S
ol
e
|

EXERCISE 6.2

| Ifd=i-2]+3k b=2i+]—2k ¢=3i+2]+k, find G- (bx7).

2. Find the volume of the parallelepiped whose coterminous edges are represented by the vectors
—6i +14j+10k, 147 —10j—6k and 2i +4] —2k .

3. The volume of the parallelepiped whose coterminus edges are 77 + Aj—3k, i +2] —k,
3i+7j+ 5k is 90 cubic units. Find the value of 1.

4.1f d@,b,¢ are three non-coplanar vectors represented by concurrent edges of a parallelepiped

of volume 4 cubic units, find the value of (G+5)-(bx&)+(b +¢)-(¢Xa)+(C+ad)-(axb).

5. Find the altitude of a parallelepiped determined by the vectors @ = —2i + 5] + 3k, b=1+ 37— 2k

and ¢ =-3i +j + 4k if the base is taken as the parallelogram determined by b and ¢.
6. Determine whether the three vectors 2/ +3 ] + k,i- 27+ 2k and 3i + J+ 3k are coplanar.

7. Letd=i+j+k b=i and E:clf+c2}'+03/€.lf ¢,=1and ¢, =2, find ¢, such that @,b and

¢ are coplanar.
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8.If d=i—k,b=xi+j+(1-x)k, ¢ =yi +xj+(1+x— )k, show that [d,b,¢] depends on
neither x nor y.

9. If the vectors ai + aj’+cl€, i+k and cf +¢f +bk are coplanar, prove that ¢ is the geometric

mean of a and b.

10. Let @,b,¢ be three non-zero vectors such that ¢ is a unit vector perpendicular to both a and b.

If the angle between a and b is %, show that [5,5,5]2 :%| al |15 .

6.5 Vector triple product

Definition 6.5

For a given set of three vectors a, b,¢ , the vector 4 x (5 x¢) 1s called a vector triple product.

Note
Given any three vectors d,b,c the following are vector triple products :

(Gxb)xC, (bx)xa, (Exa)xb, cx(axb),ax(bxc), bx(¢xa)

Using the well known properties of the vector product, we get the following theorem.

\
/Theorem 6.7
The vector triple product satisfies the following properties.
@ (1) (@, +,)X(bXC) = G x(bx&)+ad,x(bx¢), (Ad)x (b x&) = A(@x(bx7)), AR ®
Q) ax((b,+b,)x&) = ax(bx&)+ax(b,x¢), ax((Ab)x¢)=A(@x(hx¢)), AeR
e Gx(bX(C,+¢,)) = ax(bx&)+ax(bxdc,), ax(bx(Aé)=Max(bxc)), LeR )
Remark

Vector triple product is not associative. This means that a x(l; xXc)#(a XE)XE , for some

vectors a,b,c .

Justification
Wetake @ =i, b=i,¢=.Then, ax(bxé)=ix(ixj)=ixk=—] but (ixi)xj=0x;=0.

Therefore, ax(bx¢&)# (axb)x¢.

The following theorem gives a simple formula to evaluate the vector triple product.

Theorem 6.8 (Vector Triple product expansion)
For any three vectors @,b,¢ we have ax(bxc)=(a-¢)b—(a-b)c.

Proof
Let us choose the coordinate axes as follows :

Let x -axis be chosen along the line of action of a, y -axis be chosen in the plane passing through
a and parallel to b, and z -axis be chosen perpendicular to the plane containing a and b . Then, we

have
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A

a = al
b = bi+b,]
¢ = clf+czj+c3l€
i ]k
Now, (@xb)xé =|a, 0 0|x(¢i+c,)+ck)
b b 0

= albzlgx(clf+czj+c31€)
= ab,c,j —ab,c,i .. (1)
(@-&)b—(b-0)a = ac,(bi+b,))~(be, +b,c,)ai)

= abci+ab,c j—abci—ab,c,i

= ab,c,j —ab,c,i .. (2)

From equations (1) and (2), we get
ax(bxc) = (@-¢)b—(a-b)¢ m
Note

(1) 5x£l§x5) = al;+ﬁ5, where a =a-¢ and f = —(5-5) , and so it lies in the plane parallel

@® to b and C. @®
(2) We also note that
(Gxb)x¢ = —¢x(axb)
(@ -b)a—(¢-a)b]
= (a-&)b—(b-¢)a
Therefore, (ax b )x ¢ lies in the plane parallel to @ and b.

(3) In (Gxb)x&, consider the vectors inside the brackets, call b as the middle vector and

d as the non-middle vector. Similarly, in ax(bx&), bis the middle vector and € is the
non-middle vector. Then we observe that a vector triple product of these vectors is equal to
A (middle vector) —u (non-middle vector)

where A is the dot product of the vectors other than the middle vector and x is the dot
product of the vectors other than the non-middle vector.

6.6 Jacobi’s Identity and Lagrange’s ldentity

For any three vectors a,b,c, we have 5><(Z;><E)+Z;><(E><Zi)+6><(c7><5)=6.

[Theorem 6.9 (Jacobi’s identity) }

Proof

Using vector triple product expansion, we have
ax(bxc) =(a-¢)b—(a-b)é
bx(éxa) =(b-a)c—(b-¢)a
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éx(axb) =(¢-bya—(¢-a)b.

Adding the above equations and using the scalar product of two vectors is commutative, we get

ax(bxc)+bx(¢xa)+cx(axb)=0. n
Theorem 6.10 (Lagrange’s identity)
- - - - |a-¢c a-d
For any four vectors a,b,c,d, we have (axb)-(cxd)=| . Q‘ .
b-¢ b-d

Proof
Since dot and cross can be interchanged in a scalar product, we get

(Gxb)-(Exd) = a-(bx(¢xd))

a- ((l; -d )¢ — - E)c? ) (by vector triple product expansion)

= (a-c)b-d)—(a-d)b-c)
B ‘ G-¢ a-d
b-¢ b-d =
Example 6.19 o ~
Prove that [@xb, bxc, ¢xadl=[d,b,c] .
Solution
® Using the definition of the scalar triple product, we get @
[axb, bx¢, éxd]= (axb)-[(bxE)X(EXa)]- (1)
By treating (b x¢)as the first vector in the vector triple product, we find
(bx3)x(Exa) = (hx&)-a)é —((bx¢)-¢)d=[a,b,c]¢ .
Using this value in (1), we get
[axb,bx¢,éxa) = (axb)-([a,b,¢)¢)=[a,b,c|(axb)-¢ =[a,b,c]. -

Example 6.20

Prove that (G -(bx¢))d =(axb)x(axc).
Solution

Treating (ﬁxl;) as the first vector on the right hand side of the given equation and using the
vector triple product expansion, we get

(Gxb)x(axc) = (axb)-¢)a—((axb)-a)¢ =(a-(bxé))a.

Example 6.21 ~ ~

For any four vectors a, b, ¢, d, we have

Solution
Taking p=(ax b ) as a single vector and using the vector triple product expansion, we get
(Gxb)x(@xd) = px(@xd)
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Similarly, taking g = ¢ x d,we get
(ax l;) x (¢ x 67)

Example 6.22
If G=-2i+3]-2k,b=3i-

whether they are equal.

— j+3k, ¢

Solution
By definition, axb =
Then, (GXb)X¢ =
®
bx¢ =
Next, ax(bx¢c) =

Therefore, equations (1) and (2) lead to (EiXE)XE #ax(bx?c).

Example 6.23

Ifa—l—],b—l—] 4k, ¢ :3j—l€

() (Gxb)x(éxd)=[d,b,d]c -[a,

(i) (axb)x(¢xd)=[a,c¢,d]b—[b,¢
Solution (i)
By definition,

S

QY

‘ ‘ Chapter 6 Vector Algebra.indd 241

= (p-d)c—(p-c)d
= ((axb)-d)¢—((axb)-é)d =[a,b,d)¢ —[a,b,c]d

= (axb)x§

= (@ §)b-(b-§)a

= [a,¢,d)b ~[b,¢,da M
=2{-5j+k, find (dixb)xé and ax(bxc). State
ik
2 3 =2|=7-7k .
3 -1 3
ik
7 0 -7|=-35-21j-35k. ()
2 -5 1
®
ik
3 -1 3|=14i+3j-13k.
2 -5 1
ik
2 3 2 |=-331-54)-48k. . (2)
14 3 -13
m
and J=2f+5j’+l€,verifythat
b,cld
,d)a
ik ij ok
1 -1 0 |=4i+4], cxd=|0 3 -1|=8-2j—6k
1 -1 -4 2 5 1
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Pk

Then, (Gxb)x(Cxd) = |4 4 0 |=-24i+24]-40k (1)
8 -2 -6

On the other hand, we have

[G,b,d1c —[d,b,c)d = 28(3) —k)—12(2i +5] + k) =—24i +24 ] — 40k . (2)
Therefore, from equations (1) and (2), identity (i) is verified.
The verification of identity (ii) is left as an exercise to the reader. [
EXERCISE 6.3

1LIf G=i-2j+3k,b=2i+j-2k, =31 +2j+k, find (i) (@xb)xc (il) ax(bx7c).
2. For any vector a, prove that fx(&xf)+]’x(ax})+l€x(&xl€)=25.
3. Prove that [G—b, b—¢, ¢—d]=0.
4.1 G=2i{+3]j—k, b=3i+5]+2k, ¢ =—i —2] +3k , verify that

() (@xb)xé=(d-¢&)b—(b-¢)a (i) ax(bxé)=(a-¢)b—(a-b)¢
5. G=2{+3j—k, b=—i+2j—4k, ¢=i+j+k then find the value of (dxb)-(@x¢).
6. If @,b,¢,d are coplanar vectors, show that (Gxb)x(éxd)=0.

T I G=i+2]+3k,b=2i—j+k, ¢ =31 +2j+k and Gx(bx&)=ld+mb +né , find the

values of [,m,n .
8. If &,l;,é are three unit vectors such that 5 and ¢é are non-parallel and &X(Bxé) = %bA , find

the angle between a and ¢ .

6.7 Application of Vectors to 3-Dimensional Geometry

Vectors provide an elegant approach to study straight lines and planes in three dimension. All
straight lines and planes are subsets of R’. For brevity, we shall call a straight line simply as line.
A plane is a surface which is understood as a set P of points in R’ such that , if 4,B,and C are any
three non-collinear points of P, then the line passing through any two of them is a subset of P.
Two planes are said to be intersecting if they have at least one point in common and at least one
point which lies on one plane but not on the other. Two planes are said to be coincident if they have
exactly the same points. Two planes are said to be parallel but not coincident if they have no point in
common. Similarly, a straight line can be understood as the set of points common to two intersecting
planes. In this section, we obtain vector and Cartesian equations of straight line and plane by applying
vector methods. By a vector form of equation of a geometrical object, we mean an equation which is
satisfied by the position vector of every point of the object. The equation may be a vector equation or

a scalar equation.
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6.7.1 Different forms of equation of a straight line

A straight line can be uniquely fixed if

+ apoint on the straight line and the direction of the straight line are given

* two points on the straight line are given

We find equations of a straight line in vector and Cartesian form. To find the equation of a straight line
in vector form, an arbitrary point P with position vector 7 on the straight line is taken and a relation
satisfied by 7 is obtained by using the given conditions. This relation is called the vector equation of the
straight line. A vector equation of a straight line may or may not involve parameters. If a vector equation
involves parameters, then it is called a vector equation in parametric form. If no parameter is involved,
then the equation is called a vector equation in non — parametric form.

6.7.2 A point on the straight line and the direction of the straight line
are given

(a) Parametric form of vector equation

Theorem 6.11
The vector equation of a straight line passing through a fixed point with position vector a and

arallel to a given vector b isF=d+th ,where te] .

z b
Proof 4 \.\
P
.

If a is the position vector of a given point 4 and 7 is the

position vector of an arbitrary point P on the straight line, then J
AP=7-a. !
Since AP is parallel to b , we have 5 -
F—d=th,tell (D)
F=d+th,tell (2 x
or r=awib, e @) Fig. 6.18
This is the vector equation of the straight line in parametric form. [ |
Remark

The position vector of any point on the line is taken as a + i .

(b) Non-parametric form of vector equation
Since AP is parallel to b , we have APxb =0
That is, (F —a)xb =0.
This is known as the vector equation of the straight line in non-parametric form.

(c) Cartesian equation
Suppose Pis (x,y,z),Ais (x,,¥,,2) and b = blf +b2j’ + b,k . Then, substituting 7 = xf+y}‘ +zk,

a= xlf + ylj' + zllé in (1) and comparing the coefficients of 7 ,j,l€ , we get
x—=x, =tb,y—y =tb,,z—z =tb, .. (4)
Conventionally (4) can be written as

X=X — Y=0 :Z_Zl (5)
b, b, b
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which are called the Cartesian equations or symmetric equations of a straight line passing
through the point (x,,y,,z,) and parallel to a vector with direction ratios b,,b,,b;.

Remark
(1) Every point on the line (5) is of the form (x, +b,, y, +b,,z, +tb,), where te ] .

(i1) Since the direction cosines of a line are proportional to direction ratios of the line, if /,m,n

are the direction cosines of the line, then the Cartesian equations of the line are

(i) In (5), if any one or two of b,,b,,b, are zero, it does not mean that we are dividing by zero. But
it means that the corresponding numerator is zero. For instance, If b, # 0, b, # 0 and b, =0 , then
X — X, - zZ—Z . X—X -
NP b L should be written as ~—1 =221
b, b, 0 b, b,
(iv) We know that the direction cosines of x - axis are 1,0,0. Therefore, the equations of x -axis

,z—z,=0.

e =0 y=0_ z-0

1 0 0

or x=t,y=0,z=0, where te (] .

x-0 y-0 z-0
0 1 0

and

Similarly the equations of y-axis and z-axis are given by

x-0 y-0 z-0
0 0

respectively.

6.7.3 Straight Line passing through two given points

(a) Parametric form of vector equation

Theorem 6.12
The parametric form of vector equation of a line passing through two given points whose

position vectors are @ and b respectively is 7 =a +t(l; —a),tell .

(b) Non-parametric form of vector equation

The above equation can be written equivalently in non-parametric form of vector equation as
(F—a)x(b—-a)=0

(¢) Cartesian form of equation 1

Suppose P is (x,y,z), 4 is (x,,),,z,) and B

is (x,,),,2,). Then substituting 7 =xi + yj +zk,
a= x1f+y1j'+zll€ and b= x2f+y2j+zzl€ in

theorem 6.12 and comparing the /
coefficients of i j,l€ , we get
x=x =t(x,—x),y=y, =t(y,—y),z—z =1(z,— z)
and so the Cartesian equations of a line passing

through two given points (x,,y,,z,) and (x,,y,,z,) X Fig. 6.19
are given by
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X=X _Y=h _27%

N=X% = 7%

From the above equation, we observe that the direction ratios of a line passing through two
given points  (x,, 3,2, and (x,,¥,,2,) are given by x, —x,,y, —,,2z, — z,, which are also given by

any three numbers proportional to them and in particular x, —x,,y, —y,,2, —z,.
Example 6.24

A straight line passes through the point (1,2,—3) and parallel to 47 +5j—7l€. Find (i) vector

equation in parametric form (ii) vector equation in non-parametric form (iii) Cartesian equations of
the straight line.

Solution
The required line passes through (1,2,-3) . So, the position vector of the point is i +2 ] — 3k .
Let a :f+2j—3l€ and b =4f+5j—7l€ . Then, we have
(1) vector equation of the required straight line in parametric form is 7 =a + th,tell .
Therefore, 7 = (i +2j—3k)+1(4i +5]—7k), te .
(i1) vector equation of the required straight line in non-parametric form is (¥ —a) xb=0.
Therefore, (F—(i +2] - 3l€)) X(4i +5] - 71:7) =0.
XN _YTh _ZTh

(i11) Cartesian equations of the required line are

bl b2 b3
Here, (x,,,,z,)=(1,2,-3) and direction ratios of the required line are proportional to

-1 y-2 z+3

4,5,—7 . Therefore, Cartesian equations of the straight line are s e -

Example 6.25
The vector equation in parametric form of a line is 7 = (3; — 2 + 6k)+(2i — j +3k) . Find (i) the

direction cosines of the straight line (ii) vector equation in non-parametric form of the line
(ii1) Cartesian equations of the line.

Solution

Comparing the given equation with equation of astraightline 7 = a +tb ,wehave d = 3i —2 ] + 6k

and b =2 — J+ 3k . Therefore,

(i) If b=hi +b2j+b3l€ , then direction ratios of the straight line are b,b,,b,. Therefore,

direction ratios of the given straight line are proportional to 2,—1,3, and hence the direction
2 -1 3
NN TN TS
(i1) vector equation of the straight line in non-parametric form is given by (¥ —a)x b=0.
Therefore, (7 — (31 =2 +6k))x(2i — j+3k)=0.
(111) Here (x,,¥,,2,) =(3,—2,6) and the direction ratios are proportional to 2,—-1,3.

cosines of the given straight line are

x=3 y+2 z-6
-1 3 |
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Example 6.26
Find the vector equation in parametric form and Cartesian equations of the line passing through
-x=2 y+3 2z-6

(—4,2,-3) and is parallel to the line 5 3

Solution

x+2:y+3_z—3 and comparing with -

Rewriting the given equations as =
g e gvene 4 2 32 b b b

we have b = blf + sz + b3l€ =—4i-2] +%l€ = —%(85 +4] —31:7) . Clearly, b is parallel to the vector
8i+4)— 3k . Therefore, a vector equation of the required straight line passing through the given point
(—4,2,-3) and parallel to the vector 8/ +4 ] — 3k in parametric form is
F= (—4i +2]-3k)+1(8 +4]-3k), tell .
Therefore, Cartesian equations of the required straight line are given by

x+4  y-2 z+3
8 4 -3 ]

Example 6.27
Find the vector equation in parametric form and Cartesian equations of a straight passing through
the points (-5,7,—4) and (13,-5,2). Find the point where the straight line crosses the xy -plane.

Solution
® The straight line passes through the points (-5,7,—4) and (13,-5,2), and therefore, direction ®

ratios of the straight line joining these two points are 18,-12,6. That is 3,-2,1.
So, the straight line is parallel to 3 —2j + k. Therefore,
Ll Required vector equation of the straight line in parametric form is 7 = (=5 + 7] — 412) +1(3i -2)+ lg) or
F=(13] —5]+2k)+s(3 =2 + k) where s, r€ [ .

x+5 y=T7 z+4 or x=13 y+5 z-2
-2 1 3 -2 1

1) Required cartesian equations of the straight line are
An arbitrary point on the straight line is of the form
(3t—5,-2t+7,t—4) or 3s+13,-2s-5, s+2)
Since the straight line crosses the xy -plane, the z -coordinate of the point of intersection is zero.

Therefore, we have t—4=0, that is, =4, and hence the straight line crosses the xy-plane at

(7,-1,0). [
Example 6.28
: e +3 _y-1 : .

Find the angles between the straight line = > = —z with coordinate axes.

Solution )
N . . . A 20425k | R 7
If b is a unit vector parallel to the given line, then b = ——————=—(2i +2j —k) . Therefore,
|20 +2j—k| 3

from the definition of direction cosines of 5 , we have
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cosoz—z cos,B—g cos _1
39 3a 7 33

where «, 3,y are the angles made by b with the positive x -axis, positive y -axis, and positive

z -axis, respectively. As the angle between the given straight line with the coordinate axes are same as the

angles made by b with the coordinate axes, we have a = cos™' (%j, B =cos™ (%J, y =cos ' (%lj ,

respectively. m
6.7.4 Angle between two straight lines
(a) Vector form

The acute angle between two given straight lines 7 =a+sb and ¥ =c¢ + td is same as that of the

b
angle between b and d . So, cosH:M or 8=cos”' l? 'dJ .
[b]]d] |b]]d]

Remark

(i) The two given lines 7 =G +sb and 7 =¢ +1d are parallel

W
-

& 0=0< cosf=1<|b-d|=|b| |d]. NCI8WY

(i1) The two given lines ¥ =a +sb and 7 =¢+1d are parallel if, and only if b =Ad , for some
scalar A .

(i11) The two given lines ¥ =a +sb and 7 =¢+td are perpendicular if, and only if b-d=0.

(b) Cartesian form

-X - z—z X=X - z—z
VTN L and 2 _ Y= _ 2

b, b, b, d, d, d, ’

. o . X
If two lines are given in Cartesian form as

then the acute angle 8 between the two given lines is given by

| bldl + b2d2 +b3d3 |
b +b2+b2d? +d)} +d}

0 =cos™

Remark
(1) The two given lines with direction ratios b,,b,,b; and d,,d,,d, are parallel if, and only if

b _b _b
dl d2 d3 '
(i1) The two given lines with direction ratios b,,b,,b, and d,,d,,d, are perpendicular if and only

if bd +b,d,+bd,=0.

(ii1) If the direction cosines of two given straight lines are /,,m,,n, and [,,m,,n,, then the angle

between the two given straight lines is cos@ =| [/, + mm, +nn, |.
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Example 6.29
Find the acute angle between the lines 7 = (i +2j+4k)+1(2i +2j+k) and the straight line
passing through the points (5,1,4) and (9,2,12).

Solution
We know that the line 7 = (i +2 + 4l€) +1(20 42+ l:r) is parallel to the vector 2i +2 + k.

Direction ratios of the straight line joining the two given points (5,1,4) and (9,2,12) are 4,1,8

and hence this line is parallel to the vector 4i + j + 8k .

Therefore, the acute angle between the given two straight lines is

0 = cos™ %], where b =27 +2]+k and d =4 + ] +8k.
Therefore, 6 = cos™ (242 +k)-(4i + ] +8h)| =cos”' 2 : u
’ 120 +2]+k | |40 + ] +8k| 3
Example 6.30
Find the acute angle between the straight lines x;4 = % = Z—Zl and x;l =7 Zl _i72 and state
whether they are parallel or perpendicular.
Solution
Comparing the given lines with the general Cartesian equations of straight lines,

X=X Y= _z—% X=X, Y=
= = and =
b, b, b, d, d, d,

we find (b,,0,,b,) =(2,1,-2) and (d,,d,,d,)=(4,—4,2). Therefore, the acute angle between the

Z—2Z,

two straight lines is

6 = cos™

Q@D+ D4+ (=2)D)| o T
- 0)=—
J22 14 (22)2 A +(—4) + 22 cos (0=

Thus the two straight lines are perpendicular.

Example 6.31
Show that the straight line passing through the points A(6,7,5) and B(8,10,6) is perpendicular

to the straight line passing through the points C(10,2,-5) and D(8,3,—4).
Solution

The straight line passing through the points A4(6,7,5) and B(8,10,6) is parallel to the vector
b=AB=0B—0A4=2i +3]’+l€ and the straight line passing through the points C(10,2,-5) and
D(8,3,—4) is parallel to the vector d=CD=-2] +j‘+l€. Therefore, the angle between the two
straight lines is the angle between the two vectors b and d . Since

b-d=Qi+3j+k)-(=2i+j+k)=0.

the two vectors are perpendicular, and hence the two straight lines are perpendicular.
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Aliter
We find that direction ratios of the straight line joining the points A4(6,7,5) and B(8,10,6) are

(b,,b,,b;)=(2,3,1) and direction ratios of the line joining the points C(10,2,-5) and D(8,3,—4) are
d,,d,,d,)=(-2,1,1). Since bd, +b,d, +b,d, =(2)(-2)+(3)(1)+(1)(1) =0, the two straight lines are

perpendicular. [ |
Example 6.32

Show that the lines -1 = 2=y = 24 and x=3 = y=3 = 72 are parallel.

6 12 -2 3
Solution
. . ox—1 2-y z-4 . o r
We observe that the straight line 1 = P = B is parallel to the vector 4i —6; +12k and
. . x=3 y=-3 5-z. 2 At ff

the straight line 5 = 3 = P is parallel to the vector —2i +3j —6k .

Since 4i —6 + 12k = (-2 +3j - 6l€) , the two vectors are parallel, and hence the two straight

lines are parallel. u

EXERCISE 6.4

1. Find the non-parametric form of vector equation and Cartesian equations of the straight line
passing through the point with position vector 4i+3j—7k and parallel to the vector

2i-6]+7k.
@ 2. Find the parametric form of vector equation and Cartesian equations of the straight line @

passing through the point (-2,3,4) and parallel to the straight line x—41 =Y ;_3 = S;Z )

3. Find the points where the straight line passes through (6,7,4) and (8,4,9) cuts the xz and

yz planes.

4. Find the direction cosines of the straight line passing through the points (5,6,7) and (7,9,13).
Also, find the parametric form of vector equation and Cartesian equations of the straight line
passing through two given points.

5. Find the acute angle between the following lines.
(i) F=(4i — ))+1( +2]—2k), F=( 2] +4k) +s(— — 2] +2Kk)
(ii) x+4 _ y—=17 _ z+5
3 4 5
(11) 2x=3y=-z and 6x=—y=—-4z.
6. The vertices of AABC are A(7,2,1),B(6,0,3), and C(4,2,4). Find ZABC.

4k +1(2i + j+k).

,

7. If the straight line joining the points (2,1,4) and (a—1,4,—1) is parallel to the line joining the
points (0,2,h—1) and (5,3,-2), find the values of a and 5.
-5 :2—y :1—2 and x:2y+l zl—z
Sm+2 5 -1 4m -3
other, find the value of m .

8. If the straight lines

are perpendicular to each

9. Show that the points (2,3,4),(—1,4,5) and (8,1,2) are collinear.
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6.7.5 Point of intersection of two straight lines

X—X - z—z X—X - z—z . .

If P Aub i L and R At - N 2 are two lines, then every point on the
a, a, a, b, b, b,

line is of the form (x, +sa,, y, +sa,,z, +sa;) and (x, +tb,,y, +1tb,,z, +b;) respectively. If the lines

are intersecting, then there must be a common point. So, at the point of intersection, for some values

of s and ¢, we have

(x, +sa,,y, +sa,,z, +sa,) = (x, +tb,,y, +tb,,z, +tb;)

Therefore, x, +sa, = x, +tb,y,+sa, =y, +tb,,z, +sa, =z, +1b,

By solving any two of the above three equations, we obtain the values of s and ¢. If s and ¢
satisfy the remaining equation, the lines are intersecting lines. Otherwise the lines are non-intersecting .
Substituting the value of s, (or by substituting the value of ¢), we get the point of intersection of two
lines.

If the equations of straight lines are given in vector form, write them in cartesian form and
proceed as above to find the point of intersection.

Example 6.33

-1 y-2 z-3 and X~
3 4 5 2

A
<
L

. . . . . x
Find the point of intersection of the lines

Solution

Every point on the line x—1 = = =3 =s (say) is of the form (2s+1, 3s+2, 45+3) and

@ 2 3 4 @
every point on the line X ; 4 = yT_l =z =t (say) is of the form (5¢+4, 2¢t+1, ¢). So, at the point of

intersection, for some values of s and ¢, we have

(2s+1,3s+2,4s+3) = (5t+4, 2t+1, 1)
Therefore, 2s—5¢=3,3s—2¢t=—-1 and 4s—¢=-3. Solving the first two equations we get
t=-1, s=—1.These values of s and ¢ satisfy the third equation. Therefore, the given lines intersect.

Substituting, these values of ¢ or s in the respective points, the point of intersection is (—1,—1,—-1).
|
6.7.6 Shortest distance between two straight lines

We have just explained how the point of intersection of two lines are found and we have also
studied how to determine whether the given two lines are parallel or not.

! Definition 6.6

Two lines are said to be coplanar if they lie in the same plane. |

Note
If two lines are either parallel or intersecting, then they are coplanar.

! Definition 6.7

Two lines in space are called skew lines if they are not parallel and do not intersect |
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Note
If two lines are skew lines, then they are non coplanar. /
If the lines are not parallel and intersect, the distance

between them is zero. If they are parallel and non-intersecting,

the distance is determined by the length of the line segment

perpendicular to both the parallel lines. In the same way, the

shortest distance between two skew lines is defined as the length

of the line segment perpendicular to both the skew lines. Two i

lines will either be parallel or skew. _
Fig. 6.20

Theorem 6.13
The shortest distance between the two parallel lines 7 =a +sb and F=¢+th is given by

=M,where |b|=0.
5]
Proof ~
The given two parallel lines 7 =a+sb and ¥ =¢ +tb are 4@
a
denoted by L, and L, respectively. Let 4 and B be the points 17
1
on L, and L, whose position vectors are a and ¢ respectively.
— UN;
The two given lines are parallel to b . f@/ // d
Let AD be a perpendicular to the two given lines. If @ is /
o .

the acute angle between AB and b , then

_ |4Bxb| _|(E-ad)xb|

=— — .. (1) '
|AB| [b] [c—allb] Fig. 6.21
But, from the right angle triangle 4BD,
. d d
S]]’le: — === — (2)
AB | AB| |c—al
c_ Vb [ |
— X N
From (1) and (2), we have d = l(cﬁi# , where |b |=0.
Theorem 6.14
The shortest distance between the two skew lines 7 =d+sb and 7 =¢+1d is given by
5= 1(€=9)(bxd)] , where |5 xd|=0
|bxd |
Proof
The two skew lines 7 =d+sb and 7 =¢+1td are denoted by L, and L, respectively.
Let 4 and C be the points on L, and L, with position vectors a and ¢ respectively.
251 Applications of Vector Algebra
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From the given equations of skew lines, we observe that L, is bxd

parallel to the vector b and L, is parallel to the vector d.So, bxd -

is perpendicular to the lines L, and L, . 4
D L
Let SD be the line segment perpendicular to both the lines L, :
and L, . Then the vector SD is perpendicular to the vectors b and d )
and therefore it is parallel to the vector bxd .
bxd . . : — — L
So, ————= 1is a unit vector in the direction of SD. Then, the S A(a) |
|bxd | — 1
shortest distance | SD | is the absolute value of the projection of AC 'b
Fig. 6.22
on SD . That 18,
= : . = |- .. bxd
0 = |SD|=| AC . (Unit vector in the direction of SD)|=|(¢ — a)~m
X
0= |(c_aﬂ)‘(é><d)|,where |l§><c7|¢0.
|bxd | [ |
Remark
(1) It follows from theorem (6.14) that two straight lines 7 =a +sb and 7 =¢+td intersect
® each other (that is, coplanar) if (¢ —a)- (5 xd )=0. ®
(2) If two lines YA YN _Z7E g 2R YT 275 Ggtersect each other
b, b, b, d, d, d,

(that is, coplanar), then we have
N5 =N T4

b, b, b, |=0

d, d, d,
Example 6.34
Find the parametric form of vector equation of a straight line passing through the point of intersection of
the straight lines 7 = (7 +3j —k)+#(2{ +3 ] +2k) and al I 2_ y;4 _Z%3 , and perpendicular to both
straight lines.
Solution

The Cartesian equations of the straight line 7 = (i +3 — 12) +1(2i 3]+ 212) is

x=1_ y-3 =z+1

=s (sa
5 3 (say)
Then any point on this line is of the form (2s+1, 3543, 25 —-1) .. (1)
The Cartesian equation of the second line is x=2 =7 ;4 = 23 =t (say)
Then any point on this line is of the form (z+2, 2t +4,4¢-3) .. (2)
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If the given lines intersect, then there must be a common point. Therefore, for some 5,7 € R,
we have (2s+1, 3s+3, 2s—1)=(¢+2, 2t + 4,4t -3).

Equating the coordinates of x,y and z we get
2s—t=1,35s—-2t=1 and s—2t=-1.
Solving the first two of the above three equations, we get s =1 and ¢ =1. These values of s and
¢t satisfy the third equation. So, the lines are intersecting.

Now, using the value of s in (1) or the value of ¢ in (2), the point of intersection (3,6,1) of these

two straight lines is obtained.

If we take I;=2f+3j+2l€ and c?=z°+2]’+4l€,then bxd = =81°—6]A’+I€ 1s a vector

—_— N e
D W o
N S )

perpendicular to both the given straight lines. Therefore, the required straight line passing through (3,6,1)
and perpendicular to both the given straight lines is the same as the straight line passing through

(3,6,1) and parallel to 8 —6 + k. Thus, the equation of the required straight line is

F=Gi+6j+k)+m@8i—6j+k), meR. n
Example 6.35

Determine whether the pair of straight lines 7 = (2{ +6 + 3/2) +1(2+3)+ 41:7) ,

F=(2)- 3l€) +s(+2)+ 3]2) are parallel. Find the shortest distance between them.

Solution
Comparing the given two equations with

F=d+sb and F=¢+sd,
we have G=2i +6]+3k, b=2i +3j+4k,c=2]-3k d=i+2]+3k

Clearly, b is not a scalar multiple of d . So, the two vectors are not parallel and hence the two

lines are not parallel.
The shortest distance between the two straight lines is given by

5= [@-a)(bxd))|
|bxd |

Now, bxd = =i-2j+k

—_ N o
| \© I OS T Y
w

So, (¢—ad)-(bxd) = (-2 —4j—6k)-(i—=2]+k)=0.
Therefore, the distance between the two given straight lines is zero.Thus, the given lines intersect

each other. m
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Example 6.36
Find the shortest distance between the two given straight lines 7 = (2i +3 ] + 4l€) (20 + ] - 21€)
and X3 _y _z2 .
2 -1 2

Solution

The parametric form of vector equations of the given straight lines are

F= (20 +3]+4k)+1(=2f + j—2k)
and 7 = (3 —=2k)+1(2i — j+2k)
Comparing the given two equations with 7 =a + th, F=¢+sd

we have G =27 +3]+4k, b=-2i + j—2k, ¢ =31 =2k, d =2i — j+2k .

Clearly, b is a scalar multiple of d , and hence the two straight lines are parallel. We know that

the shortest distance between two parallel straight lines is given by d = % .
ik
Now, (G-d)xb=|1 -3 —6|=12i+14j-5k
-2 1 =2
Therefore, d = |12 TMA]_SAk' _ V365 '
| =20+ j—2k| 3 n

Example 6.37

Find the coordinates of the foot of the perpendicular drawn from the point (-1,2,3) to the
straight line 7 = (i —4 ] + 313) +1(2 +3]+ 12) . Also, find the shortest distance from the given point to
the straight line.

Solution
Comparing the given equation 7= (i —4)+ 3l€) +1(2i+3)+ lg) with D
F=d+th,we get a :f—4j’+3l€, and b =2f+3}+/€ . We denote the given -
point (—1,2,3) by D, and the point (1,—4,3) on the straight line by 4. If F —’b—
is the foot of the perpendicular from D to the straight line, then F' is of the
form (2t+1, 3t—4,t+3) and DF =OF —OD = (2t +2)i + (3t —6) ] + 1k . F_' Line
Fig. 6.23

Since b is perpendicular to DF , we have
b-DF = 0 = 2(2t+2)+33t—6)+1(1)=0 = r=1

Therefore, the coordinate of F'is (3,—1,4)
Now, the perpendicular distance from the given point to the given line is

DF = | DF |=4* +(=3)* +1* =+/26 units. i
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EXERCISE 6.5

1. Find the parametric form of vector equation and Cartesian equations of a straight line passing
through (5,2,8) and is perpendicular to the straight lines 7 = (i + j — IQ) +5(2i =2+ IQ) and
F=20—]=3k)+t( +2]+2k).

2. Show that the lines 7 = (6i + ] +2k)+s(i +2j—3k) and 7= (37 +2]—2k)+1(2i +4 ] —5k)

are skew lines and hence find the shortest distance between them.
x—1 _ y+1 _ z—1 and x-=3 _y-m
3 4 1

3. If the two lines = z intersect at a point, find the value

of m. 3 3 6 )
4. Show that the lines x; - y_1 z—1=0and = z

,¥—2 =0 intersect. Also find

the point of intersection.

5. Show that the straight lines x+1=2y =-12z and x = y+2 =6z -6 are skew and hence find
the shortest distance between them.

6. Find the parametric form of vector equation of the straight line passing through (-1,2,1) and
parallel to the straight line 7 = (2{ +3 ] —k)+#({ —2j + k) and hence find the shortest distance
between the lines.

7. Find the foot of the perpendicular drawn from the point (5,4, 2)

+1 y-3 z-1

3 = Also, find the equation of the perpendicular.

.Xx
to the line

@ 6.8 Different forms of Equation of a plane @

We have already seen the notion of a plane.

I Definition 6.8

A straight line which is perpendicular to a plane is called a normal to the plane.

Note
Every normal to a plane is perpendicular to every straight line lying on the plane.
A plane is uniquely fixed if any one of the following is given:
* aunit normal to the plane and the distance of the plane from the origin
+ a point of the plane and a normal to the plane
* three non-collinear points of the plane

* a point of the plane and two non-parallel lines or non-parallel vectors which are
parallel to the plane

* two distinct points of the plane and a straight line or non-zero vector parallel to the
plane but not parallel to the line joining the two points.

Let us find the vector and Cartesian equations of planes using the above situations.

6.8.1 Equation of a plane when a normal to the plane and the distance of
the plane from the origin are given

(a) Vector equation of a plane in normal form

Theorem 6.15
The equation of the plane at a distance p from the origin and perpendicular to the unit normal

vector d is F-c?=p.
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Proof
Consider a plane whose perpendicular distance from the originis p .

Let A4 be the foot of the perpendicular from O to the plane. g
Let d be the unit normal vector in the direction of OA . \
<

Then OTLI:paAV.

If 7 is the position vector of an arbitrary point P on the plane,

then AP is perpendicular to OA. Fig. 6.24
Therefore, AP-OA =0 = (F—pc?)'pcz'zo
A = (F—pd)-d=0
which gives r-d=p. .. (1)

The above equation is called the vector equation of the plane in normal form. n

(b) Cartesian equation of a plane in normal form

Let /,m,n be the direction cosines of d . Then we have d =Ii + mj + nk .
Thus, equation (1) becomes

7-(lf+mj+nl€) =p
If Pis (x,),z), then 7 = xf+y}’+zl€
Therefore, (xi +yj+zk)-(li +mj+nk) = p or Ix+my+nz=p .. (2)
Equation (2) is called the Cartesian equation of the plane in normal form.
Remark
(1) If the plane passes through the origin, then p =0. So, the equation of the plane is

Ix+my+nz=0.

N s od
(i1) If d is normal vector to the plane, then d = m is a unit normal to the plane. So, the vector
: . d - , s
equation of the plane is 7 -m=p or 7-d=gq,where g=p|d]|. The equation 7-d =gq is

the vector equation of a plane in standard form.
Note

In the standard form 7-d = q, d need not be a unit normal and g need not be the perpendicular
distance.

6.8.2 Equation of a plane perpendicular to a vector and passing through
a given point _

n
(a) Vector form of equation L
Consider a plane passing through a point 4 with position vector a
and 7 is a normal vector to the given plane. A P
Let 7 be the position vector of an arbitrary point P on the plane. Fig. 6.25
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Then AP is perpendicular to 7.

So, AP-7i =0 which gives (r —a)-n=0. .. (1)

which is the vector form of the equation of a plane passing through a point with position vector a and
perpendicular to 7.

Note
(¥-a)-n=0 = F-i=a-h =r-nh=q,where g=a-n.
(b) Cartesian form of equation

If a,b,care the direction ratios of 7, then we have 7 =ai +bj+cl€ . Suppose, 4 is (x,,¥,,2,)

then equation (1) becomes ((x— xl)f +(y—y ) +(z— z, )12) (ai +bj + clé) =0. That is,

a(x=x)+b(y-y)+c(z-z) =0

which is the Cartesian equation of a plane, normal to a vector with direction
ratios a,b,c and passing through a given point (x,,y,,z,).

6.8.3 Intercept form of the equation of a plane

z

Let the plane 7.7 =¢q meets the coordinate axes at 4,B,C

C|©.0.0)
respectively such that the intercepts on the axes are
OA=a, OB =b, OC =c. Now position vector of the point 4 is ai . ©
~ Ab“
Since A lies on the given plane, we have ai-7 =g which gives 0 B\Qﬁ}
. . . @o,
Pi=d Similarly, since the vectors bj and ck lie on the given plane, x,oi4/
Y - g L Fig. 6.26
we have j-n=- and k-n=-. Substituting 7=xi+yj+zk in
c
_— R S q q q9\_
r-n=q,weget xi-n+yj-n+zk-n=q. So x| = [+y 5 +z| = |=¢q.
a c

Dividing by ¢, we get, X +2 1 Z — 1. This is called the intercept form of equation of the plane
a b c

having intercepts a,b,c on the x,y,z axes respectively.

Theorem 6.16
The general equation ax+by +cz+d =0 of first degree in X, ),z represents a plane.

Proof
The equation ax+by+cz+d =0 can be written in the vector form as follows

(xi +yj+zk)-(ai +bj+ck)y=—d or F-ii=—d .

Since this is the vector form of the equation of a plane in standard form, the given equation
ax+by+cz+d =0 represents a plane. Here 7 = ai +bj +ck is a vector normal to the plane. u

Note
In the general equation ax+by+cz+d =0 of a plane, a,b,c are direction ratios of the normal

to the plane.
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Example 6.38

Find the vector and Cartesian form of the equations of a plane which is at a distance of 12 units
from the origin and perpendicular to 67 +2 — 3k .
Solution

Let d =6i+2j -3k and p=12.

If d is the unit normal vector in the direction of the vector 67 + 2j— 3k,

~d 1l . . A
then d =—=—(6i +2]-3k).
¥ 7( J—3k)

If 7 is the position vector of an arbitrary point (x, y,z) on the plane, then using 7 - d= p, the
vector equation of the plane in normal form is 7 %(65 +27 —313) =12.

Substituting 7 = xi + yj + zk in the above equation, we get (xi + yj + zlg) %(6? +2]— 312) =12.
Applying dot product in the above equation and simplifying, we get 6x+2y—3z =84, which is the

Cartesian equation of the required plane. [
Example 6.39

If the Cartesian equation of a plane is 3x—4y +3z =—8, find the vector equation of the plane in
the standard form.

Solution
@ If F=xi+y+ zk is the position vector of an arbitrary point (x, y,z) on the plane, then the given @
equation can be written as (xi + yj + Zle) (3 —4j+ 3]2) =—8 or (xi +y/ + zlg) (=30 +4)- 31€) =8. That
is, 7- (=31 + 4] — 31:7) =8 which is the vector equation of the given plane in standard form. -
Example 6.40

Find the direction cosines of the normal to the plane and length of the perpendicular from the
origin to the plane 7 - (37 —4 ] + 12/3) =5.
Solution

Let d =3i —4j+12k and ¢=5.

If d is the unit vector in the direction of the vector 37 — 47+ 12k , then d= %(31T —47+ 1213) .

Now, dividing the given equation by 13, we get
- 3 ~ 4 A 12 ~ 5
rol —i——j+—k|=—
13 137 13 13
which is the equation of the plane in the normal form 7 - d= p.

. . . ~ 1 ~ A ~ . .
From this equation, we infer that d = 3 (3i —4j+12k) is a unit vector normal to the plane from

the origin. Therefore, the direction cosines of d are %,I—j,% and the length of the perpendicular

from the origin to the plane is % .
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Example 6.41

Find the vector and Cartesian equatlons of the plane passing through the point with position
vector 4i +2] — 3k and normal to vector 27 — -Jj k.

Solution
If the position vector of the given point is @ =47 +2 ] — 3k and 7i=2i — J+ k , then the equation
of the plane passing through a point and normal to a vector is given by (¥ —a)-n=0 or 7¥-n=a-n.
Substituting & = 4i +2] — 3k and 7 =2i -7 +k in the above equation, we get
FoQi—j+k) = (4 +2]-3k)-(2i = j+k)

Thus, the required vector equation of the plane is 7-(2i — j + lg) =3.IfF=xi+y+ zk then we
get the Cartesian equation of the plane 2x—y+z =3. [

Example 6.42

A variable plane moves in such a way that the sum of the reciprocals of its intercepts on the
coordinate axes is a constant. Show that the plane passes through a fixed point

Solution

The equation of the plane having intercepts a,b,c on the x,y,z axes respectively is

£+%+£ =1. Since the sum of the reciprocals of the intercepts on the coordinate axes is a constant,

a c

® we have l+l +l =k , where k is a constant, and which can be written as l l +l l +l l =1. ®
a b c a\k ) b\k) clk

This shows that the plane X4 i +Z=1 passes through the fixed point (% %
a c

b

kl»—t

EXERCISE 6.6

1. Find a parametric form of vector equation of a plane which is at a distance of 7 units from the
origin having 3,—4,5 as direction ratios of a normal to it.
2. Find the direction cosines of the normal to the plane 12x+3y—4z=65. Also, find

the non-parametric form of vector equation of a plane and the length of the perpendicular to
the plane from the origin.

3. Find the vector and Cartesian equations of the plane passing through the point with position
vector 2i +6 + 3k and normal to the vector  + 37+ 5k .

4. A plane passes through the point (—1,1,2) and the normal to the plane of magnitude 33
makes equal acute angles with the coordinate axes. Find the equation of the plane.

5. Find the intercepts cut off by the plane 7 -(6i +4 ] —312) =12 on the coordinate axes.
6. If a plane meets the coordinate axes at 4, B,C such that the centriod of the triangle ABC is
the point (#,v,w), find the equation of the plane.
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6.8.4 Equation of a plane passing through three given non-collinear points
(a) Parametric form of vector equation

Theorem 6.17
If three non-collinear points with position vectors @,b,¢ are given, then the vector equation of the

plane passing through the given points in parametric form is
F=d+s(b—a)+t(¢—a),where b#0,¢#0 and s, rel .

Proof Az
Consider a plane passing through three non-collinear points

A, B,C with position vectors a,b,¢ respectively. Then atleast two
of them are non-zero vectors. Let us take 5 =0 and ¢ # 0. Let 7 be
the position vector of an arbitrary point P on the plane. Take a point
D on AB (produced) such that AD is parallel to AB and DP is

parallel to AC . Therefore,
AD = s(b—-a), DP=t(¢c—a).

Now, in triangle ADP, we have * Fig. 6.27

AP = AD+DP or F—d=s(b—a)+t(¢—a), where b 0,0 and s, te[]
Thatis, 7 = d+s(b—a)+1(c—a).

This is the parametric form of vector equation of the plane passing through the given three
non-collinear points.
® P - ®

(b) Non-parametric form of vector equation

Let 4,B, and C be the three non collinear points on the plane with
position vectors a,b,¢ respectively. Then atleast two of them are
non-zero vectors. Let us take b #0 and ¢ #0. Now A4B=b—a and

AC=¢—a. The vectors (I; —a) and (¢ —a) lie on the plane. Since

<Y

&,5,5 are non-collinear, AB is not parallel to AC . Therefore,

(5 —a)X (¢ —a) is perpendicular to the plane.

If 7 is the position vector of an arbitrary point P(x,y,z)on the
plane, then the equation of the plane passing through the point 4 with

position vector g and perpendicular to the vector (b —a)x(¢ —a) is given by
(F—ad)-(b—a)x(@—a)=0 or [F—d,b—ad,c—ad]=0

This is the non-parametric form of vector equation of the plane passing through three
non-collinear points.

(¢) Cartesian form of equation

If (x,,»,,2),(x,,¥,,2,) and (x;, y;, z,) are the coordinates of three non-collinear points 4, B,C with
position vectors a,b,¢ respectively and (x, y,z) is the coordinates of the point P with position vector
7, then we have a =x1f+y1j'+zllé, b =x2f+y2j'+221€, ¢ =x3f+y3}+z3l€ and 7 =xf+yj+zl€.
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Using these vectors, the non-parametric form of vector equation of the plane passing through the
given three non-collinear points can be equivalently written as

X=X Y=y zZz—z
X=X V,=» Zz,—z| =0

Xy=X V3=V ZZz—Z

which is the Cartesian equation of the plane passing through three non-collinear points.

6.8.5 Equation of a plane passing through a given point and parallel to
two given non-parallel vectors.

(a) Parametric form of vector equation
Consider a plane passing through a given point 4 with position vector a and parallel to two
given non-parallel vectors b and é.1If F is the position vector of an arbitrary point P on the plane,
then the vectors (7 —&'),5 and ¢ are coplanar. So, (7 —a) lies in the plane containing b and ¢ . Then,
there exists scalars s, 7€ [ such that 7 —a = sb +¢ which implies
F = G+sb+1¢,where s, tell ()

This is the parametric form of vector equation of the plane passing through a given point and
parallel to two given non-parallel vectors .

@ (b) Non-parametric form of vector equation ®
Equation (1) can be equivalently written as

(F—ad)-(bxZ) = 0 . (2)

which is the non-parametric form of vector equation of the plane passing through a given point and
parallel to two given non-parallel vectors .

(¢) Cartesian form of equation
IfG=xi+yj+zk, b=bi+bj+bk, ¢=ci+c,]+ck and F = xi +yj + zk , then the equation
(2) is equivalent to
X=X Y= zZ—2%
b, b, b, |=0
G ) G

This is the Cartesian equation of the plane passing through a given point and parallel to two given
non-parallel vectors.

6.8.6 Equation of a plane passing through two given distinct points and
is parallel to a non-zero vector

(a) Parametric form of vector equation
The parametric form of vector equation of the plane passing through two given distinct points 4

and B with position vectors @ and b , and parallel to a non-zero vector ¢ is
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F=d+s(b—a)+tc or F=(1—s)d+sb+tc (1)
where s, te [l ,(I; —a) and ¢ are not parallel vectors.

(b) Non-parametric form of vector equation
Equation (1) can be written equivalently in non-parametric vector form as

(F—d)-((b—a)xc) =0 )

where (5 —d) and ¢ are not parallel vectors.

(¢) Cartesian form of equation
If a :xlf+y1j'+zll€, b =x2f+y2j+zzl€, ¢ =cll°+c2]'+c3l€ #0 and F=xi+yj+zk, then
equation (2) is equivalent to
X=X Y=V Z—Z
X=X V=¥ -z =0
G ) G
This is the required Cartesian equation of the plane.
Example 6.43
Find the non-parametric form of vector equation, and Cartesian equation of the plane passing
through the point (0,1,—5) and parallel to the straight lines 7 = (i +2j—41€)+s(2f +3}'+6l€) and
F=@{-3j+5k)+ti+]—k).
Solution
We observe that the required plane is parallel to the vectors b=2i +3}+6l€, =i +}—l€ and

passing through the point(0,1,—5) with position vector a. We observe that b is not parallel to ¢ .

Then the vector equation of the plane in non-parametric form is given by (¥ —a)- (5 xc)=0. ..(1)
i ]k
Substituting @ = j —5k and bxé = |2 3 6 |=-9i+ 8] —k in equation (1), we get
1 1 -1

(7 —(j-5k))- (=97 +8j—k) = 0, which implies that
7 (=97 +8j—k) =13.
If F=xi+y+ zk is the position vector of an arbitrary point on the plane, then from the above

equation, we get the Cartesian equation of the plane as -9x+8y—-z=130r 9x-8y+z+13=0. g

Example 6.44
Find the vector parametric, vector non-parametric and Cartesian form of the equation of the plane
x=1_ 2y+1 z+1
2 -1

passing through the points (—1,2,0), (2,2 —1)and parallel to the straight line

Solution
The required plane is parallel to the given line and so it is parallel to the vector ¢ =i + j — k and

the plane passes through the points @ =—i +2, b=2i+ 2] —k.
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U vector equation of the plane in parametric form is 7 =g +s(5 —a )+t5 , where 5, t e R

which implies that 7 = (—f+2j)+s(3z’—1€)+t(f+j—1€) ,wheres, e R.

LI vector equation of the plane in non-parametric form is (¥ —a)- ((5 —a)xc)=0.

A

i J k
Now,(b—a@)xc=|3 0 —1|=i+2j+3k,
11 -1

we have (F — (=i +27))-((+2]+3k)=0= 7 -( +2]+3k) =3

U If F=xi+ yj+zl€ is the position vector of an arbitrary point on the plane, then from the
above equation, we get the Cartesian equation of the plane as x+2y+3z=3. [

EXERCISE 6.7

1. Find the non-parametric form of vector equation, and Cartesian equation of the plane

passing through the point (2,3,6) and parallel to the straight lines x2—1 =2 ;1 = ZI3

x+3 y-3 z+1
2 -5 -3
2. Find the parametric form of vector equation, and Cartesian equations of the plane passing

and

through the points (2,2,1), (9,3,6) and perpendicular to the plane 2x+6y+6z=9.

3. Find parametric form of vector equation and Cartesian equations of the plane passing through
the points (2,2,1),(1,-2,3) and parallel to the straight line passing through the points (2, 1, —3)
and (—1,5,-8).

4. Find the non-parametric form of vector equation and cartesian equation of the plane passing through
the point (1,-2,4) and perpendicular to the plane x+2y—3z=11 and parallel to the line

x+7 y+3 =z
3 -1 1
5. Find the parametric form of vector equation, and Cartesian equations of the plane containing

the line 7 = (i — j + 3l€) +1(2i— ]+ 4l€) and perpendicular to plane 7-(i +2/ + l:r) =8.

6. Find the parametric vector, non-parametric vector and Cartesian form of the equations of the
plane passing through the three non-collinear points (3,6,-2),(-1,-2,6), and (6,—4,-2) .

7. Find the non-parametric form of vector equation, and Cartesian equations of the plane
P = (65—]‘+l€)+s(—f+2}+l€)+t(—5§—4}—51€) .

6.8.7 Condition for a line to lie in a plane
We observe that a straight line will lie in a plane if every point on the line, lie in the plane and
the normal to the plane is perpendicular to the line.

(i) If the line F=ad+th lies in the plane 77 =d ,then d-n=d and b-ii=0.

(ii) If the line =—1 = y;yl =272 lies in the plane Ax+ By+Cz+D =0, then
a C

Ax,+ By, +Cz,+ D=0 and ad+bB+cC=0.
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Example 6.45
Verity whether the line ol _43 =7 _74 = Z;; lies in the plane 5x—y+2z=8.
Solution

Here, (x,,,,2,) =(3,4,-3) and direction ratios of the given straight line are (a,b,c) =(-4,-7,12).

Direction ratios of the normal to the given plane are (4,B,C)=(5,-11).
We observe that, the given point (x;, y,,z, ) =(3,4,-3) satisfies the given plane 5x— y+z =38

Next, ad+bB+cC=(-4)5)+(-7)(-1)+(12)(1)=-1#0. So, the normal to the plane is not
perpendicular to the line. Hence, the given line does not lie in the plane. [ |

6.8.8 Condition for coplanarity of two lines

(a) Condition in vector form

b bxd
The two given non-parallel lines F=d+sband 7 =C+1d are A@@) I
coplanar. So they lie in a single plane. Let A and C be the points whose h /
position vectors are d and ¢ . Then A and C lie on the plane. Since b c(c) =
and d are parallel to the plane, bxd is perpendicular to the plane. So /;7/
AC is perpendicular to bxd . That is, Fig. 6.30

® (¢-d)-(bxd) = 0 ®

This is the required condition for coplanarity of two lines in vector form.

(b) Condition in Cartesian form

B W S 4 W ] WP L IO A
by b, by d, d, dy

X .
Two lines are coplanar if

This is the required condition for coplanarity of two lines in Cartesian form.

6.8.9 Equation of plane containing two non-parallel coplanar lines

(a) Parametric form of vector equation

Let 7=z +sband r=c+td be two non-parallel coplanar lines. Then bxd#0.Let Pbe any

point on the plane and let a be its position vector. Then, the vectors g - 21,5,3 as well as % —-c,b,d
are also coplanar. So, we get a —a=th+sd or 17(; —c=th+sd . Hence, the vector equation in

parametric form is r=a+th+sd or r=c+th+sd .
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(b) Non-parametric form of vector equation
Let r=a+sband r=c+td be two non-parallel coplanar lines. Then bxd#0.Let Pbe any

point on the plane and let a be its position vector. Then, the vectors a - ZI,B, d as well as g —-c,b,d

are also coplanar. So, we get (a — 5)(5 X Zz;) =0 or (170 - 2)(13 X 67) =0. Hence, the vector equation in
non-parametric form is (; - Zz)(l; X ;l) =0 or (; —E)(B X Zl) =0.

(C) Cartesian form of equation of plane

In Cartesian form the equation of the plane containing the two given coplanar lines

X=5 _Y=h_z274 X=X _VY=hh _27%5

and is given by
b b, by d, d, dsy
X=X Y=V z2—4
. dy  d
X=X Y=V, 272
b, b, by |=0
d, d, dy
Example 6.46
® Show that the lines 7:(—f—3j—512)+s(3z°+5j+71€) and ?:(25+4j+6l€)+t(z°+4]‘+713) ®

are coplanar. Also,find the non-parametric form of vector equation of the plane containing these lines.

Solution
Comparing the two given lines with

F=d+th,F=C+sd
we have, a = —f—3j‘—5/€,5=3f+5}+7/€, E=21°+4]A'+6l€ and c?:f+4j+7l€

We know that the two given lines are coplanar , if (¢ —4)- (l; xd ) =0

i ]k

Here, bxd=|3 5 7| = 7i-14j+7k and ¢—a=3i+7]+11k
1 4 7

Then, (¢-a)-(bxd) = (3i+7j+11k)-(77 -14]+7k)=0.

Therefore the two given lines are coplanar.Then we find the non parametric form of vector
equation of the plane containing the two given coplanar lines. We know that the plane containing the

two given coplanar lines is

(7-a)-(bxd) = 0
which implies that (? - (—f -3j- 519)) : (7f —14;+ 7l€) = 0. Thus, the required non-parametric

vector equation of the plane containing the two given coplanar lines is 7 - (f —2j+ IQ) =0.
|
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EXERCISE 6.8

1. Show that the straight lines 7 = (5 + 7] —3k)+s(4i +4 ] —5k) and

7= (Sf +47+ SIQ) +t (7f +7+ 3l€) are coplanar. Find the vector equation of the plane in which

they lie.
-2 :y—3:z—4 and x—lzy—4:z—
1 3 -3 2

2. Show that the lines al

are coplanar.Also, find the

plane containing these lines.
x-1 y-2 z-3

x-3 y-2 z-1

3. If the straight lines — and > are coplanar, find the
1 2 m 1 m
distinct real values of m.
4. If the straight lines x-1 = y+l =Z and xtl = y+l =Z are coplanar, find A and equations
2 A 2 5 2 A

of the planes containing these two lines.

6.8.10 Angle between two planes

The angle between two given planes is same as the angle between their normals.

Theorem 6.18
The acute angle @ between the two planes 7 -#, = p, and 7 -7, = p, is given by

6 =cos™ |ﬁ1 ' ﬁ2|
72|,

Proof

If O is the acute angle between two planes 7 -7, = p, and 7 -1, = p, , then

0 is the acute angle between their normal vectors 7, and 7,.

n-n
Therefore, cosez( . 2|

) (D

(1) If two planes 7 -n, = p, and 7 -7, = p, are perpendicular, then 7, -7, =0

Remark

(ii) If the planes 7 -7, = p, and 7 -7, = p, are parallel, then 7, = A#, , where A is a scalar

(i11) Equation of a plane parallel to the plane ¥-n=p i1s ¥ -n =k, kel

Theorem 6.19

The acute angle @ between the planes a,x+b,y+c,z+d, =0 and

|a1a2 +bb, + clcz|

\/al2 + bl2 + cl2 \/az2 + b22 + 022

a,x+b,y+c,z+d, =0 is given by 8=cos™
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Proof
If n, and n, are the vectors normal to the two given planes ax+by+cz+d, =0 and

a,x+b,y+c,z+d, =0 respectively. Then, 7, = ai +b, ]+ cll€ and 7, =a,i +b, ]+ Czl:f

Therefore, using equation (1) in theorem 6.18 the acute angle @ between the planes is given by

|a1a2 +b,b, + clcz|

9200871 2 2 2 2 2 2
\/a1 +b" +¢ \/a2 +b," +c, -

Remark
(1) The planes a,x+b,y+c,z+d, =0 and a,x+b,y+c,z+d, =0are perpendicular if

aa,+bb,+cc,=0

(i1) The planes ax+by+cz+d, =0 and a,x+b,y+c,z+d, = 0are parallel if ﬂ:Z—l:ﬁ
4G b, G

(i11) Equation of a plane parallel to the plane ax+by+cz=p is ax+by+cz=k, kell

Example 6.47
Find the acute angle between the planes 7 - (21T +2j+ 21:7) =11 and 4x-2y+2z=15 .

Solution

The normal vectors of the two given planes 7 - (Zf +27+ 2]2) =11 and 4x—-2y+2z=15 are
n, = 20+2)+ 2k and n, = 4 -2]+ 2k respectively.

If @ is the acute angle between the planes, then we have

|ﬁ1.ﬁ2] . ‘(25+2}+21€).(4i—2j+2/€)‘ _1(\5)
=cos =cos | —

‘2f+2j+21€H4i—2j+2/€

6.8.11 Angle between a line and a plane

We know that the angle between a line and a plane is the

complement of the angle between the normal to the plane and
the line N

Let 7 =d+1tb be the equation of the line and 7 -7 = p be ]

the equation of the plane. We know that b is parallel to the given

|
line and 7 is normal to the given plane. If 6 is the acute angle / —

between the line and the plane, then the acute angle between 7 Fig. 6.31

cos(z—ﬁ)zsin9:| ‘ |
? |
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[ -7
gl

and ax+by+cz = p are the equations of the line and

. (D)

So, the acute angle between the line and the plane is given by 6 =sin”

N_YTI _zZ74

. X —
In Cartesian form if
a b G

the plane, then b :alf +b1j+cll€ and 7i=ai +b]‘+cl€. Therefore, using (1), the acute angle €

between the line and plane is given by
|aa1 +bb, +cc, |

6 =sin™'
Ja* +b* +¢ \/a]2 +b +¢

Remark
(1) If the line is perpendicular to the plane, then the line is parallel to the normal to the plane.
So, b is perpendicular to 7 . Then we have b = Aii where A€ [] ,which gives - % =a
a c

(i1) If the line is parallel to the plane, then the line is perpendicular to the normal to the plane.

Therefore, b -7i = 0 = aa, +bb, +cc, =0

Example 6.48
@ Find the angle between the straight line 7 = (2f +37+ /:r) +t (f —j+ IQ) and the plane @
2x—y+z=35.
Solution
, 57
The angle between a line 7 =a +tb and a plane 7 -7 = p with normal 7 is § =sin™ |l;||*| .
n

Here, Ezf—}+l€and ﬁ=2f—j+l€.

So,we get 6 =sin"

(z’—}‘+l€)-(2i—j‘+l€)‘ . _,(M]
=sin |—— (A

| |7 ‘f—j+1€‘ ‘2?-}412

6.8.12 Distance of a point from a plane
(a) Vector form of equation

Theorem 6.20
The perpendicular distance from a point with position vector # to the plane 7 -7 = p is given by
S lii -7 — p
i

Proof

Let 4 be the point whose position vector is # .
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Let F be the foot of the perpendicular from the point 4 to the plane A(id)
7-n = p.The line joining F' and 4 is parallel to the normal vector # and n
hence its equation is7 =u + 1 . S
But F'is the point of intersection of the line 7 =u + 1 and the
given plane 7-n = p.If 7 is the position vector of F, then 7, =u +t7 F
for some #, €l , and 7 -7 = p .Eliminating 7 we get
- Fea=p
(i +,7i)-7 = p which implies ¢ = # Fig. 6.32
Now, FA=ii—(ii+1ji) = —4i :{(” |’f|2_p ]ﬁ
n

ﬁ-ﬁ)—p

-2
i

5= [F=|!

The position vector of the foot F of the perpendicular AF is given by

l_";= ﬁ+tlﬁ or .':_. [

B QZDRZ W
= ar b

|”| [ ]

(b) Cartesian form of equation

In Caretesian formif A(x,,y,,z, ) is the given point with position vector u and ax+by+cz=p

is the Cartesian equation of the given plane, then i = x,i +y,j + zll€ and 7i =ai +bj+cl€ . Therefore,

ju-n—p|

7]

using these vectors in d = , we get the perpendicular distance from a point to the plane in

Cartesian form as
_|ax1 +by, + ¢z _p|_ |ax1 +by, +cz, —p|

_| Va' +b* + ¢ |_ Na> +b* +c*

)

Remark
The perpendicular distance from the origin to the plane ax+by+cz+d =0 is given by
4]

Nat +b* + 2

Example 6.49
Find the distance of a point (2,5,-3) from the plane 7 - (6f 37+ 213) =5.

S=

Solution

Comparing the given equation of the plane with 7 -7 = p, we have 7i =6/ =3 + 2%k
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We know that the perpendicular distance from the given point with position vector # to the

u-n—p oA A
plane7-ii = pis given by 0 =% . Therefore, substituting # =(2,5,-3)=2i +5;—3k and

=60 -3]+ 2k in the formula, we get

(25+5}—3l€)~(6£—3j+2i€)—5

5=|ﬁ'ﬁﬁ_p|: B S = 2 units.
|| 61 —3j+2k _

Example 6.50
Find the distance of the point(5,—5,—10) from the point of intersection of a straight line passing
through the points 4(4,1,2) and B(7,5,4) with the planex—y+z=5.

Solution
The Cartesian equation of the straight line joining 4 and B is

x=4 y-1_ z=2
3 4 2

Therefore, an arbitrary point on the straight line is of the form (37 +4,47+1,2¢+2). To find the

=t (say).

point of intersection of the straight line and the plane, we substitute x =3¢+4,y=4¢t+1,z=2¢t+2 in
x—y+z=5, and we get 1 =0. Therefore,the point of intersection of the straight line is (2,-1,2).
Now, the distance between the two points(2,-1,2)and(5,-5,-10) s

J(2=5) +(=1+5) +(2+10)’ =13 units. =

6.8.13 Distance between two parallel planes

Theorem 6.21
The distance between two parallel planes ax+by+cz+d, =0 and ax+by+cz+d, =0 is given
|d1 — d2|

Nat +b* + 2

Proof

by

Let A(x,,»,,z,) be any point on the plane ax+by+cz+d, =0, then we have
ax,+by,+cz,+d, =0= ax, +by, +cz, =—d,
The distance of the plane ax+by +cz+d, =0 from the point 4(x,,,,z,) is given by
5 - |ax1+byl+czl+dl| _ |d1—d2|
Na' +b* +¢° Na' +b> +c°

Hence, the distance between two parallel planes ax+by+cz+d, =0and ax+by+cz+d, =0 is

) d—d
given by J = M

Nat+b*+¢? u
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Example 6.51
Find the distance between the parallel planes x+2y—2z+1=0 and 2x+4y—-4z+5=0.
Solution

We know that the formula for the distance between two parallel planesax+by +cz+d, =0 and
|d1 —d, |

Nat+b* +¢?
5

Comparing the given equations with the general equations, we get a=1,b=2,c=-2,d, =1,d, = 5

. : : 5
ax+by+cz+d,=0 is 0= . Rewrite the second equation as x+2y—2z+5:0.

Substituting these values in the formula, we get the distance

d —d
5:\/|21 22| == 2 =— units.
2 2 2
a +b +c \/1 +2 +(—2 ) -
Example 6.52
Find the distance between the planes 7 - (Zf —j- 2k) =6 andr- (6f -3j— 6k) =27
Solution

Let i be the position vector of an arbitrary point on the plane 7-(2i — j — 213) =6. Then, we have
ii-(2i—j-2k)=6. (D

If & is the distance between the given planes, then & is the perpendicular distance from u to the

@ plane - @
Fo(61-3]—6i)=27.

A~

ii- (61 —3]—6k)—27
(6 +(=3)> +(=6)’

3 (21— j-2k)-27
9

|u-n—p| (3(6)-27|

Therefore, 6 = 5 | =

1 unit. g
7]

6.8.14 Equation of line of intersection of two planes

Let 7-n = p and 7 -m = q be two non-parallel planes. We know
that n and m are perpendicular to the given planes respectively.

So, the line of intersection of these planes is perpendicular to both

n and m. Therefore, it is parallel to the vector nxm. Let

Axi=1i+1,]+ 1Lk

Consider the equations of two planes a,x+by+cz=p and

a,x+b,y+c,z =¢q . The line of intersection of the two given planes

intersects atleast one of the coordinate planes. For simplicity, we
assume that the line meets the coordinate plane z =0. Substitute

Fig. 6.33

z=0 and obtain the two equations ax+by—p=0 and

a,x+b,y —q =0.Then by solving these equations, we get the values of xand y as x, and y, respectively.
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So, (x] , yl,O) is a point on the required line, which is parallel to llf +lzj +13/€ . So, the equation of the

line is 2 = Y= N =Z_O.
ll 12 l3

6.8.15 Equation of a plane passing through the line of intersection of two
given planes

Theorem 6.22

The vector equation of a plane which passes through the line of intersection of the planes

—

F-iy=d, and -7, =d,is given by (F-7i, —d,)+A(F-ii,—d,)=0, where 1 eR.

Proof ?
Consider the equation :é
(7 -ii, ~d, )+ A(F ii,—d,) =0 . (1) i
The above equation can be simplified as “f‘
7 - (i, + Aii, )~ (d, + Ad,) = 0 e T

0

Put ii = i, + Aii, , d = (d, + Ad,).

Then the equation (2) becomes

Foii=d .. 3) e 6 S =d

® The equation (3) represents a plane. Hence (1) represents a plane. ®

Let 7 be the position vector of any point on the line of intersection of the plane. Then 7 satisfies
both the equations 7 -5, =d, and 7 -5, =d, . So, we have
7en, = d, .. (4

and 7-n, = d, . (5)

By (4) and (5), 7, satisfies (1). So, any point on the line of intersection lies on the plane (1). This
proves that the plane (1) passes through the line of intersection.

The cartesian equation of a plane which passes through the line of intersection of the planes
ax+by+cz=d, and a,x+b,y+c,z=d, 1s given by

(ax+by+cz—d)+A(ax+by+c,z—d,)=0 u
Example 6.53

Find the equation of the plane passing through the intersection of the planes 7 - (; i+ k) +1=0

and 7-(2{ =3 +5k) = 2and the point (~1,2,1).
Solution

We know that the vector equation of a plane passing through the line of intersection of the planes
F-i =d, and 7 -7, =d, is given by (F-ii, —d, )+ A(F-1,—d,)=0

Substituting 7 =xi +yj+zk, i, =i+ j+k, i,=2i—-3j+5k, d,=1,d,==2 in the above
equation, we get
(x+y+z+1)+A(2x-3y+52z-2)=0
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Since this plane passes through the point(—1,2,1), we get A = % , and hence the required equation

of the plane is 11x—4y+20z=1 . m
Example 6.54

Find the equation of the plane passing through the intersection of the planes 2x+3y—z+7=0
andx+ y—2z+5=0 and is perpendicular to the planex+y—-3z-5=0 .

Solution
The equation of the plane passing through the intersection of the planes 2x+3y—z+7=0and

x+y—2z+5=01is (2x+3y—z+7)+A(x+y—-2z+5)=0 or
(2+A)x+(3+A) y+(-1-24)z+(7+54)=0
since this plane is perpendicular to the given plane x+ y—3z—5=0, the normals of these two planes
are perpendicular to each other. Therefore, we have
(1)(2+ )+ (1) (3+A)+(=3)(~1-24) 2 =0
which implies that A = —1 .Thus the required equation of the plane is

(2x+3y—z+7)—(x+y—2z+5)=0=>x+2y+z+2=0. [ |

6.9 Image of a Point in a Plane
Let A be the given point whose position vector is # . Let 7-7n = p be the equation of the plane.

Let v be the position vector of the mirror image A" of A in the plane. Then AA' is perpendicular to

the plane. So it is parallel to 7 . Then

AA =i or v—ii=Aii = V =i+ (D
Let M be the middle point of 44" . Then the position vector of M is ury .But M lieson
the plane.
S u+v) .
0, > h=p. .. (2) ) A(i)

Sustituting (1) in (2), we get

|
S PR () RL L\

Therefore, the position vector of A’ A Croi= p
v
.~ - 2[p—(u-n
18 v=u+% Fig. 6.35
n
Note

The mid point of M of 4A" is the foot of the perpendicular from the point A to the plane 7 -7 = p. So
the position vector of the foot M of the perpendicular is given by .

ity _i 1(ﬁ+2[p—<ﬁ-ﬁ)ﬁ)

=—+
|7
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6.9.1 The coordinates of the image of a point in a plane

Let (a,,a,,a,) be the point & whose image in the plane is required. Then i@ = a,i +a,] +a,k .

Let ax+by+cz =d be the equation of the given plane. Writing the equation in the vector form we

get 7-7i = pwhere 7i = ai +bj + ck .Then the position vector of the image is

sog2le-@n] .
H;

If v=vi+v,j+v,k ,then v, =a,+2a0,v, =a,+2a0, v; = a, +2ax

where = Z[p—(aa1 +ba, +ca3)].

a’+b’+c?
Example 6.55
Find the image of the point whose position vector is  +2 ] + 3k in the plane 7 - (f +27+ 4l€) =38 .
Solution
Here, ii=i+2]+ 3k L A=i+2]+ 4k , p =38 . Then the position vector of the image v of
AoA n 2l p—(u-n
ii =7 +2]+3F is given by soge e @m]

|7 [

2[38—((z+2]+31€) (l+2]+4k)):|
(f+2]’+4k) ({+ ]+4l€)

® 17:(z°+2]'+31€)+ (f+2}+4l€). ®

3817

Thatis,vz(f+2j+31€)+( )(f+2j+41€)=25+4}+71€.
Therefore, the image of the point with position vector 7 +2j + 3k is 20 + 47+ 7k . m

Note
The foot of the perpendicular from the point with position vector 7 +2 ] + 3k inthe given plane is

+3]+5k .

(i +2]+3k)+(2i +4]+7k) _3:
2 2

6.10 Meeting Point of a Line and a Plane

Theorem 6.23

The position vector of the point of intersection of the straight line 7 =a +th and the plane

=pis a+(%)b provided b -7 #0.
7

Proof
Let 7 =d+tb be the equation of the given line which is not parallel to the given plane whose

equation is 7-7 = p. So, b-ii#0.
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Let u be the position vector of the meeting point of the line with the plane. Then u satisfies both 7 = a + tb

and 7 -n = p for some value of 7, say ¢,. So, We get
—G+ib (1 B :
(1 ﬁT :x\\
- — (2) /g\

u
u-n=p
Sustituting (1) in (2), we get J‘I \
(@+tb)-ii=p M
or  d-ii+t(b-ii)=p L
.o F-n=p

—(a-n \
or g =2=l@7) -3) .

b-n Fig. 6.36

Sustituting (3) in (1), we get

i=at m]l?,i}ﬁzo -

Example 6.56
Find the coordinates of the point where the straight line 7 = (Zf —j+2k) +t(3f +47+ 2k)

intersects the planex—y+z-5=0.

Solution

Here, a=2i—j+2k, b=3+4)+2k.

The vector form of the given plane is F-(f—j+l€) =5.Then n =f—j+l€ and p=5.

We know that the position vector of the point of intersection of the line 7 =a + tb and the plane
7.d = p is given by ﬁzé+[$)5, whereb /i # 0 .

Clearly, we observe that b-ii 0.

Gq 5—(25—}+2/€)-(i—j+1€)
=—————————-=0. Therefore,the position vector of the point of
i (3 +aj+2k)(1-]+K)

p

Now, _
b

intersection of the given line and the given plane is
F=(20 = j+2k)+(0) (30 +4]+2k) =20 - j+2k
That is, the given straight line intersects the plane at the point (2,—1, 2) .

Aliter
x—=2 y+1 z-
==
We know that any point on the given straight line is of the form (3¢+2,4t—1,2t+2). If the
given line and the plane intersects, then this point lies on the given pane x—y+z—-5=0.
So, (3t+2)—(4t-1)+(2t+2)-5=0=1¢=0.
Therefore, the given line intersects the given plane at the point (2,—1,2)

. . . . . 2
The Cartesian equation of the given straight line is =t (say)
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EXERCISE 6.9

. Find the equation of the plane passing through the line of intersection of the planes
7-(22-7j+41€)=3 and 3x—5y+4z+11=0, and the point (-2,1,3).

2. Find the equation of the plane passing through the line of intersection of the planes

—_—

x+2y+3z=2 and x—y+z+11=3, and at a distance 2 from the point (3,1,-1).

N

. Find the angle between the line rz(2f—j‘+l€)+t(z°+2j’—2/€) and the plane

(O8]

?-(62+3]’+21€)=8

4. Find the angle between the planes 7 - (f + —212) =3 and 2x-2y+z=2.

e

Find the equation of the plane which passes through the point (3,4,—1)and is parallel to the
plane 2x—3y+5z+7=0. Also, find the distance between the two planes.
6. Find the length of the perpendicular from the point (1,-2,3)to the plane x—y+z=5.

7. Find the point of intersection of the linex —1 = % =z+1 with the plane 2x—y+2z =2. Also,

find the angle between the line and the plane.
8. Find the coordinates of the foot of the perpendicular and length of the perpendicular from the
point ( 4,3,2) to the planex+2y+3z=2.

@ EXERCISE 6.10 |

Choose the correct or the most suitable answer from the given four alternatives :

1.1f G and b are parallel vectors, then [d,E,l;] is equal to

(1) 2 (2) -1 3)1 40
2. If a vector & lies in the plane of ,B and 7, then

(1) [@.B.7]= () [@.B.7]=-1 () [@.B.7]=
3.1fGa-b=b-¢=¢-a=0, then the value of [a, b ,C] 18

() lal|b] || (2)§|5\|b||5| 31 (4) -1

4. 1f d@,b,¢ are three unit vectors such that @ is perpendicular to b, and is parallel to ¢ then
><(5 X ) is equal to
(1) a @b (3) ¢ (4) 0
(ch) b- (cxa) c- (axb)

(¢xa)- b (axb) ¢ (cxb)
(H1 (2) -1 3)2 4) 3

5. If [d@,h,é]=1, then the value of &

6. The volume of the parallelepiped with its edges represented by the vectors
T+, i42), i+ ]+7k is

T T T
1)— 2) — R4 4) —
( )2 (2) 3 (3) (4) 2
XII - Mathematics 276

‘ ‘ Chapter 6 Vector Algebra.indd 276 @ 10-05-2019 17:08:54‘ ‘



B [ [ [ ® . EEES

7.1f @ and b are unit vectors such that [a, b, a xl;] =%, then the angle between a and b is

T T r T
(1 o ) 7 3) 3 4) By

8. Ifd=i+j+k, b=i+], ¢=i and (Gxb)x&=Ad+ ub, then the value of A+ 4 is

(1o 1 (3)6 43
9. If Zi,Z;,E are non-coplanar, non-zero vectors such that [, l;, c¢]=3,then {[EzXZ;, EXE, cxal)’

is equal to
(1) 81 2)9 (3) 27 (418

10. If Ei,l; ,C are three non-coplanar vectors such that g x (l; XC) = ﬂ , then the angle between
d and b is V2

V3 3m V4

&) By ) vy 3) 7 4 7

11. If the volume of the parallelepiped with a xb, bX&, ¢xa as coterminous edges is 8 cubic
units, then the volume of the parallelepiped with (axb)x(bx&),(bx¢)x(¢xd) and

(¢xa)x(ax b ) as coterminous edges is,
(1) 8 cubic units (2) 512 cubic units (3) 64 cubic units (4) 24 cubic units
® 12. Consider the vectors a@,b,¢,d such that (szl;)x(EXc?) =0. Let P and P, be the planes ®
determined by the pairs of vectors @,b and &,d respectively. Then the angle between P and
P, is
(1) 0° (2) 45° (3) 60° (4) 90°
13. If éx(EXE) = (5><Z;)><E, where Ez,Z;,E are any three vectors such that b-¢#0 and @b # 0,

then a and ¢ are
(1) perpendicular (2) parallel

(3) inclined at an angle % (4) inclined at an angle %

14 Ifa=2i+3j— lg, b=i+ 2] —SIQ, E=3i+5]— lg, then a vector perpendicular to a and lies

in the plane containing b and ¢ is

(1) =17{ +21] 97k (2) 17§ +21] 123k
(3) -17i =21} +97k (4) -17i =217 -97k
- ~1 2y+3 5
15. The angle between the lines X2 y+1,z:2and ro_LyHS _z% is
3 -2 1 3 2
(1) = @) = 3) = @) =
6 4 3 2
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16. If the line x;2=y—1=z-2+2 lies in the plane x+3y—az+ =0, then (e, fB) is

-5
(1) (=5,5) (2) (=6,7) 3) (5,-5) 4) (6,-7)
17. The angle between the line 7 = (i +2/ — 312) +1(2 + ] - 2/€) and the plane 7-({ + /)+4=0 is
(1) 0° (2) 30° (3) 45° (4) 90°

18. The coordinates of the point where the line 7 = (61 —j—3l€)+t(—f +4l€) meets the plane
Fi+j-k)=3 are
(1) (2’170) (2) (75_19_7) (3) (1525_6) (4) (55_151)

19. Distance from the origin to the plane 3x—6y+2z+7=0 is

(1o )1 3) 2 4 3

20. The distance between the planes x+2y+3z+7=0 and 2x+4y+6z+7=0 is
L @7 O @ =

242 2 2 2

21. If the direction cosines of a line are %, %, %, then
(1) c=43 (2) c=+3 (3) ¢>0 (4) 0<c<l1

22. The vector equation 7= (i —2) — lé) +1(61 — Ig) represents a straight line passing through the

® points @

(1) (0,6,-1) and (1,-2,-1) (2) (0,6,—-1) and (-1,-4,-2)
(3) (1,-2,-1) and (1,4,-2) (4) (1,-2,-1) and (0,-6,1)

23. If the distance of the point (1,1,1) from the origin is half of its distance from the plane

x+y+z+k=0, then the values of k are
(1) 43 (2) 16 (3) -3,9 (4) 3,-9
24. If the planes 7.(2i —Aj+k)=3 and 7.(4i + j — k) =5 are parallel, then the value of A and

M are

1 1 1 1
(1) 5’_2 (2) _5’2 (3) _5’_2 (4) 5:2

25. If the length of the perpendicular from the origin to the plane 2x+3y+Az=1, 4>0 is

l, then the value of A is

(1) 243 2) 32 3)0 (4) 1
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SUMMARY

1. For a given set of three vectors a,band ¢, the scalar (ax b )- ¢ is called a scalar triple product

of a,b,c.
2. The volume of the parallelepiped formed by using the three vectorsd,b, and ¢ as
co-terminus edges is given by |(5 xb )-¢ | .
3. The scalar triple product of three non-zero vectors is zero if and only if the three vectors are coplanar.
4. Three vectors d,b,¢ are coplanar, if, and only if there exist scalars 7,5,/ € R such that atleast

one of them is non-zero and 7d+sb 4+ =0.

5. If a,b,c and ;,&,; are any two systems of three vectors, and if ; = xIZz + y15+zlg,
XN g
G =xa+ bt ngand 7= xatybiad,ten [par]=n v af[abd].
X3 V3 I
6. For a given set of three vectors a,b,c, the vector ax (l; X ) 1is called vector triple product .
7. For any three vectors a, b, ¢ we have ax (l;xé) = (5-5)5 —(a- I;)E .

8. Parametric form of the vector equation of a straight line that passes through a given point
with position vector a and parallel to a given vector b is ¥ =a+tb, wherete[].

9. Cartesian equations of a straight line that passes through the point (x,, ,,z, ) and parallel to a

_x1=y_y1_z_zl ) @

bl b2 b3

e . x
vector with direction ratios b,,b,,b, are

0 YN 275 G of the form (x, +tb,, y, +tb,, z, +1b;) ,te .
b b, b,

11. Parametric form of vector equation of a straight line that passes through two given points

10. Any point on the line al

with position vectors a and bis F= 5+t(l;—c7) ,tell.
12. Cartesian equations of a line that passes through two given points (x,,,,z,)and (x,,y,,z,)
X=X% _ V=0 _ 2%
Ay TRl T T

13. If @ is the acute angle between two straight lines 7 =a +sband F=¢+1d, then

are

(B
0=cos | ==
2ig
14. Two lines are said to be coplanar if they lie in the same plane.
15. Two lines in space are called skew lines if they are not parallel and do not intersect

16. The shortest distance between the two skew lines is the length of the line segment perpendicular
to both the skew lines.

17. The shortest distance between the two skew lines 7 = G +sb and7 = ¢ +1d is
(6-a)-(bxd)

5= Y
|b><d|

, where \l;x07|¢0.
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18. Two straight lines 7 =a + sb and 7 = ¢ +1d intersect each other if (c- Ei) : (l;xg) =0
) 3 (e-a)xb
19. The shortest distance between the two parallel lines ¥ =a+sband ¥ =c +tbis d = |5| ,
where |E |=0
20. If two lines >0 =20 2754 g X170 Y7 _Z7% intersect, then
bl bZ b3 dl d2 d3
dy TRl Tl E T
b, b, b, |=0
d, d, d
21. A straight line which is perpendicular to a plane is called a normal to the plane.
22. The equation of the plane at a distance p from the origin and perpendicular to the unit normal
vector d is 7-d = p ( normal form)
23. Cartesian equation of the plane in normal form is Ix+my+nz=p
24. Vector form of the equation of a plane passing through a point with position vector @ and
perpendicular to 7 is (7 —a)-7n=0.
25. Cartesian equation of a plane normal to a vector with direction ratios a,b,c and passing through
a given point (x,,,,z,)is a(x—x,)+b(y—y)+c(z-z)=0.
26. Intercept form of the equation of the plane 7.7 =g having intercepts a,b,c on thex,y,z
: . Xy z
@ axes respectively is —+=+—=1.
a c
27. Parametric form of vector equation of the plane passing through three given non-collinear
points is 7 = d+s(b—a)+t(¢—a)
28. Cartesian equation of the plane passing through three non-collinear points is
X=X Y=y =z
X=X Y=y z,-z|=0.
Xa=X% V3= 2374
29. A straight will lie on a plane if every point on the line, lie in the plane and the normal to the
plane is perpendicular to the line.
30. The two given non-parallel lines 7 = a + sband 7 =¢ +1d are coplanar if (¢ —a)- (5 xd ) =0.
31. Two lines >t = X" N 272 g =0 V7 275 40 coplanar if
b b, by d, d, d
X=X =W 2,7%
b1 bz b3 =0
d, d, d,
32. Non-parametric form of vector equation of the plane containing the two coplanar lines 7 = a + sb
and7 = +td is (F—d)-(bxd) = 0 or (F=¢)-(bxd)=0.
— i ﬁ»
33. The acute angle @ between the two planes 7 -7, = p; and 7-ii, = p, is 8 = cos™ “_}HfH
1172
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34.

35.

36.

37.

38.

39.

40.

41.

42.

N

S|

S

d

The perpendicular distance from a point with position vector # to the plane 7 -7 = p is given

If 8 istheacuteangle betweentheline 7 = a + tb andthe plane 7 -7 = p,then & = sin™!

S|

by 5_EA=p
7]
The perpendicular distance from a point (x,,y,,z)to the plane ax+by+cz=pis

6:|ax1 +by, +cz,—p|

Ja +b*+c*
The perpendicular distance from the origin to the plane ax+by+cz+d =0 is given by

9]
Va? +b* +¢?
The distance between two parallel planes ax+by+cz+d, =0and ax+by+cz+d,=0 is
given by M _

Na' +b* +c’

The vector equation of a plane which passes through the line of intersection of the planes

5:

—

reon =d, and 7 -1, =d, is given by (¥-7i, —d,)+ A(¥ -1i,—d,) =0, where A €R is an.
The equation of a plane passing through the line of intersection of the planes a,x + by + ¢,z =d,
and a,x+b,y+c,z=d, is given by
(ax+by+cz—d)+Nax+by+c,z—d,)=0
The position vector of the point of intersection of the line 7 =a+¢b and the plane 7-7i = p
1S u=da+ M Z;,Where b-ii#0.
b-n

If v is the position vector of the image of u in the plane 7 -7 = p ,then

2l p—(u-n
+—[p ( )] n

V=i
nf
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12.

)1

-2 1
O

() x=-1Ly=4

(i) x=2,y=3,z=4
x=2,y=1lz=-1

4. 18 days, 36 days

5. ¥ 30/-, * 10/-, T 30/-, yes

(i) x=-2,y=3

()2 ()2 (v)3 (V)3 2.

ANSWERS

Exercise 1.1

11 -l NEEA
G [-3 1 1 i) £{2 1 -2
9 -5 -1 1 2 2
N Jror
i) —[-1 6 -l i) —[-3 1 1
W) -2 (i)
-1 -1 6 E
0 2 0 2 0 -2
9, J_r% 6 2 —6| 10.]0 2 0
3 0 6 2 0 2
0 1
13. 15. HELP
00

Exercise 1.2

)2 Gi)3 (i) 3
2 -3 1 40 16 9
Gi) |-3 -3 1 (i) | 13 -5 -3
2 -4 1 5 2 -1 @

Exercise 1.3
(1) x=2,y=—4

(iv) x=3,y=-2,z=1

3.3 18000, X 600
5.3 2000, % 1000, X 3000

Exercise 1.4
(ii) x= % y=3

(i) x=2,y=3,z=4(v) x=1,y=3,z=3
2. 84

4. Pump A : 15 minutes, Pump B : 30 minutes

l. 1) x=-1ly=4,z=4
2. a=2,b=1c=6
4. a=1,b=3,c=-10, yes

() x=y=z=1

3. 50% acid is 6 litres, 25% acid is 4 litres

Exercise 1.5
(1) x=3,y=Lz=2
3.3 30000, 15000, 20000

Exercise 1.6
1 1
i) x=—(7-41),y=— (5t -1),z=t,t el
(i) x 10( ),y 10( ).z

@ 10-05-2019 16:25:51 ‘ ‘



AEEEN ® H - EEEN

(ii1) No solution (iv) x= %(s —t+2),y=s,z=tands,t €l
2. (1) k=1 (i) k#Lk#-2 (i) k=-2
3. (i) 4=5 (i) A#5u+9 (iii)) A=5u=9
Exercise 1.7
1. () x=—t,y=—"2t,z=t,tell (i1) Trivial solutions only
2. (i) A#8 (i) A=8

3. 2C,H,+70, — 6H,0+4Co,
Exercise 1.8

1 2 3 4 5 6 7 8 9 10
) €) 2) €) (4) ) (4) (4) 2) (1)
11 12 13 14 15 16 17 18 19 20
) (4) (1) 2) (4) €) 2) (1) (4) 4)
21 22 23 24 25
) (4) (4) (4) (1)

Exercise 2.1

1. —1—i 2. 1+i 3.0 4.0
5.1 6. 1-i

® Exercise 2.2 ®
1. (i) 4+i (i) 8—i (iii) 7+5i (iv) 1+17i

(V) 15+8  (vi) 15+8i
3. x=-1, y=1
Exercise 2.3

, a1 ,
3. —z,=-2-5i , z =5(2—51)
. a1 :
-z, =3+4i , 221:2—5(—3+41)
—z;=—1-1, Z;IZE(l—i)

Exercise 2.4

. . 5. 2 14
1. (i) 7-5i (i) Z(l—l) (iii) P
2. (i) —— (i) v (i) —y—4

Xty
30 L), Lo @ -
- 25 5 2
6. (i) 6 (ii) 3
283 Answers
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4. 11+6i
7. 10

3. (i) y* =3

5. (1) ¥’ +y"—8x-240=0

(i) 2+i,3

Exercise 2.5

(i) 22 (iii) 32 (iv) 50
9. (i) i(%+i%] (ii) i(ﬁ—izﬁ) (i) £(2-3i)
Exercise 2.6
(i) x—y=0 (iii) x+y=0 (iv) X’ +y* =1
(i) —1+2i,1 (iii) 2-41‘,%
(i) 6x+1=0

Exercise 2.7

. () 4(cos(2kﬂ'+§)+isin(2kn+§D,ke 7

(i) 243 (cos(2k7r—%]+isin(2k7z—%)} kel

(i) 2+/2 (cos(zkn—%’r}isin(zkﬂ—%”)} keZ

(iv)+2 [cos(Zkﬂ+%)+isin(Zkﬂ+%]], keZ

1 o =i
2. (1) —=(1+1) (i) —
V2 2 Exercise 2.8
3.1 5. 3cisZ, -3, 3¢is2% 7. -1
3 3
9. (i) 202 (ii) Ze%ﬂ (iif) Ze%ﬂ
Exercise 2.9
1 2 3 4 5 6 7 8 9 10
(D () (D (2 3) (D €] (D (D (D)
11 12 13 14 15 16 17 18 19 20
(2) @) “4) (2 (2 3) () 3) 4) 4)
21 22 23 24 25
2 3) “4) @)) (D
EXERCISE 3.1
1. &

2. ()x’—6x"+11x—6=0
3. ()X’ +4x" +12x+32=0

XII - Mathematics
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(i) x’—3x—2=0
(i) 4x° +3x° +2x+1=0 (i)x’ —2x*4+3x—4=0

284

(i) 2% —7x*+7x—2=0
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2
4. 231 510 6 ZA1ED6 dea-1 7 ZLZE,Z£:M
3 19719’ 19 o d By ad
8. 2x>+13x+20=0 11. x> —18x* +109x—216=0 12.x +x—12=0
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M

Exercise 3.2

. When k& <0, the polynomial has real roots.

When k =0or k=8, the roots are real and equal.
When 0 < k£ <8 the roots are imaginary.
When k > 8 the roots are real and distinct.

2 2

X’ —4x+7=0 3. x’—6x+13=0 4, x*—16x*+4
Exercise 3.3
33t 2 24, 32006 4 k—2 2V
2 3’3 3 2
_ o1 3
1—2i,1+2i,ﬁ—\6,1+*/§,1 V37 6. (),—3Gi) 1,1, 2 7. 43,45
2 2 2 2 4
Exercise 3.4
C{-23,-7.8} (i) 3.3.3+17.3-+17 2, 1,—2,_”2*5,_1_26}

Exercise 3.5

(1) z +27n , no solution for sinx =4 (i) 2,—1,%
2 43
2 3
(1) x=1 (ii)) no rational roots 3. 4 4. L ,9%
4a b
O RRSR S E A
2°3 2 2
1,1
-2,2,3 7. —,3,—and 2
32
Exercise 3.6
It has at most four positive roots and at most two negative roots.
It has at most two positive roots and no negative roots.
It has one positive real root and one negative real root.
no positive real roots and no negative real roots.

Exercise 3.7

1 2 3 4 5 6 7 8 9 10

“) () 3 2) 2 (4) 0 €) (1) 2

285 Answers
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Exercise 4.1

I () x=nm, n=0,%1,%2,..+10 (i) x:(4n—l)%, n=0,%1,+2,+3, 4
2. ()1, 27”(11) L, 6r G 47 4 () % (ii) —%
5 x=0 6. (i) {-1 1} Gi) [0.1] 7. %
Exercise 4.2
1. (1) x=(2n+l)%, n=0,+1,+2 +3, +4 %5 (ii)x=(2n+1)7£, n=0,%+1,*x2, -3
2. -ZgJo, 7] 3. True 4. Z
6 3
Sz T 247
s iy 3% F 6. (i) [-5. 5 i oL
(1) P (i1) 5 (iii) 119 @ [ | G [-L1]
1 ) . s
7. O0<x<— 8. 0 -
X <3 (1)0 (i) 5
Exercise 4.3
. .. ~ T L T
1. 1) [-3,3 i) R 2. (1) — 1) —
@® M [ 1 () (1) 1 (i1) 6
17 245 24
3. (1) — i) 1947 i) —0.2021 4.(1) oo i) ——— i) —
()4 (i1) (iii) (1) (1) >s ()25
Exercise 4.4
T ... T T . T 1 T S
1. G) — @) — 1) —— 2.(1) —— (1) cot (2)—— ) ——
()6()6()4 ()3() ()6 ()6
Exercise 4.5
T T
1. () -= i) —= (i) 5-27
(1) 2 (i1) 2 (ii1)
2 ) VIR () ——— (i) 2L
' e V9x* —6x+2 B—dx—4x’
T 17 T
3. () = (i) 0 (i) — 8. =
(1) 6 (i) 0 (1ii) 5 2
9. (i) x=13 (i) x=2=2 (ifi) x =nz, x=nw+2
1+ab 4
(iv) x=+3
10. Three
XII - Mathematics 286
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Exercise 4.6
1 2 3 4 5 6 7 8 9 10
3) ) 3) (1 ) 6] 3) (D 4) (4)
11 12 13 14 15 16 17 18 19 20
3) 2) 2 (D 3) 3) 2) ) 4) (4)
Exercise 5.1
1. ¥’ +y*+10y=0 2.(x=2)"+(y+1)>=50
3. X+ +4x+4y+4=0 or ¥’ +y*+20x+20y+100=0 4.x* + )’ —4x—6y—12=0
5. X"+ y"=5x+3y-22=0 6. x*+y* =1
7. X’ +y*—6x—4y+4=0 8. %12
9. x=5y+8=0, x+5y-12=0 10. out side, inside, outside

1

—_

12.

—_

[\

98]

. y L (1 V17 (3 3
(i) (0,-2),0 (i) (-3,2),3 (iii) (E,—I}T (iv) (5,—1),5
p=q9=3,(1,0),5

Exercise 5.2

(i) y* =16x (i) 3x’=—4y (i) (y+2) =12(x=1) (iv) »* =16x

Lxt Y Lox ¥ .. lex® y? Xy
—+=—=1 — +—==1 +—=1 —+—=1
® 36 27 @ 9 25 (i) 625 25 (i) 8 16
2 2
Y ay =2 L), Gy -2
16 20 12 24 16 64
i Length of
Vertex Focus Eq}latwl.l of eneTh o
directrix latus rectum
i (0,0) (4,0) x=—4 16
i (0,0) (0,6) y=—6 24
111 (0,0) (=2,0) x=2 8
iv. (1,-2) (1,4) y=0 8
v (1,2) (3,2) x=-1 8
287 Answers
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S Type of conic Centre Vertices Foci Directrices
: : 25
i. Ellipse (0,0) (£5,0) (+4,0) x=t-
10
i Ellipse (0,0) (0210) | (0.447) | y=t
25
iii. Hyperbola (0,0) (£5,0) (£13,0) x= iE
. 16
iv. Hyperbola (0,0) (0,%4) (0,£5) y= i?
8.
Type.of Centre Vertices Foci Directrices
Conic
31
i | Elipse | (34) | (320.(3-13) | (12.(3.-4) s
y= T
® ®
47
X = ?,
ii. Ellipse (-12) | (-11,2),(9,2) (-7,2),(5,2) 53
xX=—
3
_176
iii. | Hyperbola | (-3,4) | (~18,4),(12,4) | (-20,4),(14,4) —12776
e
y= 25 +2
—1,2++/41 TR
iv.| Hyperbola | (-12) | (-17),(-1,-3) ( : val
(-1,2—-+/41) _=25
y= +2
T
(42+3V2), | @4,-2+46), y=-2+36,
V. Ellipse (4.-2)
4-2-32) | (“4-2-V6) y=-2-3J6
vi. | Hyperbola
yp (2,-3) | (3,-3),(1,-3) (2+10-3), x:%”,
(2-+/10,-3) 110
X=——+2
J10
XII - Mathematics 288
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Exercise 5.3

. hyperbola 2 circle 3. ellipse 4. circle 5. hyperbola 6. parabola

Exercise 5.4

. x=y=3=0,x-9y+13=0 2. 10x-3y+32=0, 10x+3y-32=0

‘ ‘ Answers.indd 289

3. (—3,1) 4., x-y+4=0
5. x-2y+8=0 6. 4x-3y—-6=0,3x+4y—-12=0
Exercise 5.5
8.4 m 2. 9.6 m 3. 3m
yi/;4.8x, 1.3m 5. 3.52m, 5.08m 6. 45.41m, 74.45m
V2 8. 33m 9. tan"'[2 10. -2~
3 3 9 16
Exercise 5.6
1 2 3 4 5 6 7 8 9 10 11 12 13
(1) (3) 4) (3) 3) (1) (1) (3) (2) (2) (1) @ | 3)
14 15 16 17 18 19 20 21 22 23 24 25 ==
3) (1) 4) 4) (1) (1) (2) (2) (3) (3) (3) 2) | -
Exercise 6.1
11. 80 units 12. 69 units
3 -1 =7 A ~ ~
13. V179, , , 14. -96i+1157+15k
J179 7 V179 7 V179 /
Exercise 6.2
1. 24 2. 720 cubic units 3. =5
4. 12 5. ¥ 6. coplanar 7.2
Exercise 6.3
1. (i) —2i+147-22k (i) 22i+147+2k 5. 74
7. 1=0, m=10, n=-3 8. 0:%
Exercise 6.4
= (A AN A AooAn oo o x—=4 y=-3 z+47
1. r—(4i+3j-Tk|x(2i—6j+7k|=0, = =
(41+3] =7k )x(2i~ 65 +7k) <=
- AN AT ~on oy x+2 y=3 z-4
2. r=(-2i+3j+4k|+t|-4i+5j-6k), = =
(<2437 +4k)+(4i+5]-6k), === ==
3. (220,27 (0.16,-11)
0 3
289 Answers
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o

(%%g) P =(Si+6]+7k)+t(2i+3j+6k) or

F = (70497 +13k)+1(2i+3]+6k),

x=5 :y—6:z—7 or x—=17 :y—9:z—13

2 3 6 2 3 6

3 T T 2
5. (1)0° (i == i) — 6. — 7. a=18,b=— 8. 1
(1) (i1) cos (2 \/g) (1i1) 5 5 a 3

Exercise 6.5
x=5 y-2 z

)

1. 7=(5§+2}+81€)+t(2§+}—21€),te R,

2. Lunits 3. 2 4. (6,2,1) 5. 2 units
J5 2
6. @units 7. (16,0), X2y 272
J6 —4 2 )
Exercise 6.6
L7 3i—4j+5k _7 5 E,i’—_4; i 12i +3; -4k _5. 5
542 13713713 13
® 3. 7-(§+3}+51€)=35; x+3y+5z=35 4, 7-(;+}+1€)=2; X+y+z=2 ®
: : : X y z
5. x -intercept =2, y- intercept=3, z- intercept =—4 6. —+—+—=3
u vow

Exercise 6.7

L 7(i-2j+4k)=20; x—2y+42-20=0

2. F-(3§+4}'—51€)=9; 3x+4y—52-9=0

3. 7-(2§+2}+1€)+s(—§—4}+21€)+t(3§—4}+51€)s,teD;
12x—11y—16z+14=0

4, F-(§+1o}'+71€)=9; x+10y+7z-9=0

5 F-(E—}‘+3l€)+s(2?—}‘+4l€)+t(f+2;‘+l€)s,teR; 9x—2y—5z+4=0

6. -(3i+6)—2k)+s(—4i-8)+8k)+1(3i-2/)s.,ce R; F-(2i+3j+4k)=16;
2x+3y+4z-16=0

7. F(3i+5)-7k)=6; 3x+5y-7z-6=0

Exercise 6.8

1 F(17i-47)-24k) =172 2. x+2y—z-4=0
3. m=+2 4. 22,2, y+z+1=0, y—z+1=0
XII - Mathematics 290
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. 15x—-47y+28z-7=0

3. sin™ 8
21
4

5. 2x-3y+5z-11=0;——

38

Exercise 6.9

2. 5x—1ly+z—-17=0

af 2
4. cos (ﬁ)

6. Luni‘[s

NE

7. (2,2,0)

Exercise 6.10

8. (3,—1,—1);x/ﬁunits.

‘ ‘ Answers.indd 291

1 2 3 4 5 6 7 8 9 10
“) 3) (1) (2) 3) 3) (1) (1) 1) (2)
11 12 13 14 15 16 17 18 19 20
3) (1) () 4) “4) ) A3) “4) () (1)
21 22 23 24 25
(2) 3) “) 3) 1)

®
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H .  EEEw

Reciprocal inverse GrILomm 6L
identities APHOMT(HELOBGIT
Reflection identities LW/]@LIG@UL[ ;
ApHOMIT(HEDLOBGT
Cofunction inverse @g;gwﬂgj o
identities o . ovr FITIH .
APMODIT(HEDLDBET
CHAPTER 5
ANALYTICAL GEOMETRY Il AND
FUNCTIONS
Circle QUL LD
Parabola LITQUGHGTUILD
Ellipse BETeUL L LD
Hyperbola ASIITAUGTUILD
Algebraic @uimsessils
techniques [BIL LIMhIGGIT
Geometrical auIg a6y
problems BT G BGIT
Astronomy DY)
Conics Fa_LDL| QUCHGTYHGIT
Focus @&ilwLD
Directrix BuisGaremiy
Eccentricity EOLI I ETEa0
S5

‘ ‘ Glossary.indd 293

293

Glossary

10-05-2019 16:28:55‘ ‘



___IEEEN ® N = HEEN

CHAPTER 6
Focal chord & [BTGosT
VECTOR ALGEBRA AND ITS
APPLICATIONS
Vertex (LpEDGHT
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